complex functions

Overview

The last chapter developed a basic theory of complex numbers. For the next few
chapters, we turn our attention to functions of complex numbers. They are de-
fined in a similar way to functions of real numbers that you studied in calculus;
the only difference is that they operate on complex numbers rather than real
numbers. This chapter focuses primarily on very basic functions, their represen-
tations, and properties associated with functions such as limits and continuity.
You will learn some interesting applications as well as some exciting new ideas.

2.1 FUNCTIONS AND LINEAR MAPPINGS

A complex-valued function f of the complex variable z is a rule that assigns
to each complex number z in a set D one and only one complex number w.
We write w = f(z) and call w the image of z under f. A simple example
of a complex-valued function is given by the formula w = f(z) = 22. The set
D is called the domain of f, and the set of all images {w = f(z):z € D}
is called the range of f. When the context is obvious, we omit the phrase
complex-valued, and simply refer to a function f, or to a complex function f.

We can define the domain to be any set that makes sense for a given rule,
so for w = f(z) = 22, we could have the entire complex plane for the domain
D, or we might artificially restrict the domain to some set such as D = Dy (0) =
{#z :]|z| < 1}. Determining the range for a function defined by a formula is not
always easy, but we will see plenty of examples later on. In some contexts
functions are referred to as mappings or transformations.

In Section 1.6, we used the term domain to indicate a connected open set.
When speaking about the domain of a function, however, we mean only the set
of points on which the function is defined. This distinction is worth noting, and
context will make clear the use intended.
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54 CHAPTER 2 ® COMPLEX FUNCTIONS

w=f(z)=u+iv

Domain u=u(x,y) Range
D v=v(x,y) R

| X | u
Figure 2.1  The mapping w = f (z2).
Just as z can be expressed by its real and imaginary parts, z = x + iy, we

write f(z) = w = u + iv, where u and v are the real and imaginary parts of w,
respectively. Doing so gives us the representation

w=f(z)=f(z,y) = f(x+iy) =u+iv.

Because u and v depend on x and y, they can be considered to be real-valued
functions of the real variables x and y; that is,

u=u(z,y) and v=wv(x,y).

Combining these ideas, we often write a complex function f in the form
f2)=f@+iy) =u(z, y)+iv(z,y). (2-1)
Figure 2.1 illustrates the notion of a function (mapping) using these symbols.

B EXAMPLE 2.1 Write f (z) = 2* in the form f (2) = u (z, y) + v (z, y).

Solution Using the binomial formula, we obtain

f)=(x+ iy)4 =zt + 42%iy + 622 (zy)2 + 4z (zy)3 + (z’y)4
& (x4 — 622y + y4) +1 (4x3y — 4:1:y3) ;

so that u (z, y) = o* — 62%y? +y* and v (z, y) = 423y — 421>,

B EXAMPLE 2.2 Express the function f (z) = Z Re(2) + 2% + Im (2) in the
form f(z) = u(z, y) +iv(z, y).

Solution Using the elementary properties of complex numbers, it follows that
f2)=(@—iy)z+ (2° —y* +i2zy) +y = (22° —y* +y) +i(zy),

so that u (z, y) =222 — %> + y and v (z, y) = xy.

© Jones & Bartlett Learning, LLC. NOT FOR SALE OR DISTRIBUTION.



2.1 m FUNCTIONS AND LINEAR MAPPINGS 55

Examples 2.1 and 2.2 show how to find u(x, y) and v (z, y) when a rule
for computing f is given. Conversely, if u (z, y) and v (x, y) are two real-valued
functions of the real variables x and y, they determine a complex-valued function
f(z,y) =u(z, y)+iv(x, y), and we can use the formulas

24z 22—z

= d:
Ty e YE Ty,

to find a formula for f involving the variables z and Z.

B EXAMPLE 2.3 Express f (z) = 422 + i4y? by a formula involving the vari-
ables z and Z.

Solution Calculation reveals that

PR A z—zZ\°
=4 4
o= () e ()
=2"+2224% —i(2° — 2224 7°)
=(1—4)22+(2+2i) 22+ (1 —14) 2%

Using z = re'? in the expression of a complex function f may be convenient.
It gives us the polar representation

fx=f (rem) =u(r, 0)+iv(r,0), (2-2)

where © and v are real functions of the real variables r and 6.

Remark 2.1 For a given function f, the functions v and v defined here are
different from those defined by Equation (2-1) because Equation (2-1) involves
Cartesian coordinates and Equation (2-2) involves polar coordinates. [

B EXAMPLE 2.4 Express f(z) = 22 in both Cartesian and polar form.
Solution For the Cartesian form, a simple calculation gives
f)=f(a+iy) = (@+iy)’ = (2" —y*) +i(2zy) = u(z, y) +iv(z, y)
so that
u(z, y) =2? —y? and v (z, y) = 2zy.

For the polar form, we refer to Equation (1-39) to get
f(re?) = (rei9)2 =120 = 12 cos 20 + ir?sin20 = U (r, 0) +iV (r, 0),
so that

U(r,0) =r*cos20, and V (r, 0) =r?sin26.
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56 CHAPTER 2 ® COMPLEX FUNCTIONS

Once we have defined v and v for a function f in Cartesian form, we must use
different symbols if we want to express f in polar form. As is clear here, the
functions u and U are quite different, as are v and V. Of course, if we are working
only in one context, we can use any symbols we choose.

B EXAMPLE 2.5 Express f (z) = 2° + 42? — 6 in polar form.
Solution Again, using Equation (1-39) we obtain

f(2) = f(re’?) =17 (cos 50 + isin 50) + 4r” (cos 20 + i sin 20) — 6
& (r5 cos 50 + 4r? cos 20 — 6) +i (r5 sin 50 + 472 sin 26)
=u(r, 0)+iv(r, 0).

We now look at the geometric interpretation of a complex function. If D is
the domain of real-valued functions u (x, y) and v (z, y), the equations

u=u(x,y) and v=v(z,y)

describe a transformation (or mapping) from D in the zy plane into the uv plane,
also called the w plane. Therefore, we can also consider the function

w=f(2)=u(z,y)+iv(r,y)

to be a transformation (or mapping) from the set D in the z plane onto the
range R in the w plane. This idea was illustrated in Figure 2.1. In the following
paragraphs we present some additional key ideas. They are staples for any kind
of function, and you should memorize all the terms in bold.

If A is a subset of the domain D of f, the set B = {f (z) : z € A} is called
the image of the set A, and f is said to map A onto B. The image of a single
point is a single point, and the image of the entire domain, D, is the range, R.
The mapping w = f (z) is said to be from A into S if the image of A is contained
in S. Mathematicians use the notation f : A — S to indicate that a function
maps A into S.

Figure 2.2 illustrates a function f whose domain is D and whose range is
R. The shaded areas depict that the function maps A onto B. The function also
maps A into R, and, of course, it maps D onto R.

The inverse image of a point w is the set of all points z in D such that
w = f(z). The inverse image of a point may be one point, several points, or
nothing at all. If the last case occurs then the point w is not in the range of f.
For example, if w = f (z) = iz, the inverse image of the point —1 is the single
point i, because f (i) =i (i) = —1, and 7 is the only point that maps to —1. In
the case of w = f (2) = 22, the inverse image of the point —1 is the set {i, —i}.
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w=fz)=u+iv
C Domain Range

D R
< » X » U
"\/ v \J

Figure 2.2 f maps A onto B; f maps A into R.

A

You will learn in Chapter 5 that if w = f (z) = e?, the inverse image of the point
0 is the empty set—there is no complex number z such that e* = 0.

The inverse image of a set of points, S, is the collection of all points in the
domain that map into S. If f maps D onto R, it is possible for the inverse image of
R to be a function as well, but the original function must have a special property:
A function f is said to be one-to-one if it maps distinct points z; # zo onto
distinct points f (z1) # f (22). Many times an easy way to prove that a function
f is one-to-one is to suppose f(z1) = f(z2), and from this assumption deduce
that z; must equal zo. Thus, f(z) = iz is one-to-one because if f(z1) = f(z2),
then iz; = izy. Dividing both sides of the last equation by i gives z; = 2. Figure
2.3 illustrates the idea of a one-to-one function: Distinct points get mapped to
distinct points.

The function f(z) = z? is not one-to-one because —i # i, but f (i) =
f(=i) = —1. Figure 2.4 depicts this situation: At least two different points get
mapped to the same point.

In the exercises we ask you to demonstrate that one-to-one functions give
rise to inverses that are functions. Loosely speaking, if w = f (z) maps the set
A one-to-one and onto the set B, then for each w in B there exists exactly one
point z in A such that w = f(z). For any such value of z we can take the

A
\4
=
\

Y
A
\4
=

v Bas v

Figure 2.3 A one-to-one function.
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Figure 2.4  The function f(z) = 2> is not one-to-one.

equation w = f (z) and “solve” for z as a function of w. Doing so produces an
inverse function z = g (w) where the following equations hold:

g(f(z)=2 forallze A, and
f(g(w))=w forallwe B. (2-3)

Conversely, if w = f(z) and z = ¢ (w) are functions that map A into B
and B into A, respectively, and Equations (2-3) hold, then f maps the set A
one-to-one and onto the set B.

Further, if f is a one-to-one mapping from D onto T and if A is a subset
of D, then f is a one-to-one mapping from A onto its image B. We can also
show that if ¢ = f (z) is a one-to-one mapping from A onto B and w = g (¢) is a
one-to-one mapping from B onto S, then the composite mapping w = g (f (2))
is a one-to-one mapping from A onto S.

We usually indicate the inverse of f by the symbol f~!. If the domains of f
and f~! are A and B, respectively, we can rewrite Equations (2-3) as

FHf(2) =2 forallz€ A, and
f(f ' (w)=w foralweB. (2-4)

Also, for zp € A and wy € B,
wo = f (Zo) le f_l (’wo) = Z0- (2—1

B EXAMPLE 2.6 If w = f(z) =iz for any complex number z, find f=1 (w).

ot
~~

Solution  We can easily show f is one-to-one and onto the entire complex
plane. We solve for z, given w = f (z) = iz, to get z = ¥ = —iw. By Equations
(2-5), this result implies that f~! (w) = —iw for all complex numbers w.

Remark 2.2  Once we have specified f~! (w) = —iw for all complex numbers
w, we note that there is nothing magical about the symbol w. We could just as
easily write f~!(z) = —iz for all complex numbers z. [
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2.1 m FUNCTIONS AND LINEAR MAPPINGS 59

We now show how to find the image B of a specified set A under a given
mapping u+iv = w = f (z). The set A is usually described with an equation or
inequality involving x and y. Using inverse functions, we can construct a chain
of equivalent statements leading to a description of the set B in terms of an
equation or an inequality involving v and v.

B EXAMPLE 2.7 Show that the function f(z) = iz maps the line y = z + 1
in the xy plane onto the line v = —u — 1 in the w plane.

Solution  (Method 1): With A = {(z, y) : y =2+ 1}, we want to describe
B=f(A). Welet z=ux+iy € A and use Equations (2-5) and Example 2.6 to
get

utiv=w=f(r)EB<= fl(w)=z=ac+iyc A
= —iwe A
—v—iueA
— (v, —u) € A
— —u=v+1
= v=—-u—1,

where <= means if and only if (iff).

Note what this result says: v+ iv = w € B <= v = —u — 1. The image of
A under f, therefore, is the set B = {(u, v) : v = —u — 1}.

(Method 2): We write u+iv = w = f (z) = i(x+iy) = —y+iz and note that
the transformation can be given by the equations u = —y and v = z. Because A
is described by A = {x + iy : y = = + 1}, we can substitute u = —y and v = x
into the equation ¥y = x + 1 to obtain —u = v + 1, which we can rewrite as
v = —u — 1. If you use this method, be sure to pay careful attention to domains
and ranges.

We now look at some elementary mappings. If we let B = a + ib denote a
fixed complex constant, the transformation

w=T(z)=z4+B=x+a+i(y+Db)

is a one-to-one mapping of the z plane onto the w plane and is called a transla-
tion. This transformation can be visualized as a rigid translation whereby the
point z is displaced through the vector B = a+ b to its new position w = T (z).
The inverse mapping is given by

z2=T ' (w)y=w—-B=u—a+i(v—0>)

and shows that T is a one-to-one mapping from the z plane onto the w plane.
The effect of a translation is depicted in Figure 2.5.
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y v
w=T(z)

w=z+B

B=a+ib B=a+ib
u=x+a
v=y+b
Z=x+1iy

X u

Figure 2.5  The translation w =T (z2) =z+ B=xz+a+i(y +b).

w=R@  g=60+a
i(0+ @)

w=re <
—_— Vi
p=r Q
p=0+«
r 0

—_—

Figure 2.6  The rotation w = R (z) = re'®+%).

If we let « be a fixed real number, then for z = re*?, the transformation
ia 0 i

w= R(z) = ze!* = reifel® = peil

is a one-to-one mapping of the z plane onto the w plane and is called a rotation.
It can be visualized as a rigid rotation whereby the point z is rotated about
the origin through an angle « to its new position w = R(z). If we use polar
coordinates and designate w = p*® in the w plane, then the inverse mapping is

z = R_l (’w) = we_ia = pei¢e_ia — pei(¢_a)_

This analysis shows that R is a one-to-one mapping of the z plane onto the w
plane. The effect of rotation is depicted in Figure 2.6.

B EXAMPLE 2.8 The ellipse centered at the origin with a horizontal major
axis of four units and vertical minor axis of two units can be represented by the
parametric equation

s(t) =2cost+isint = (2cost, sint), for 0 <t < 2m.
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Figure 2.7 (a) Plot of the original ellipse; (b) plot of the rotated ellipse.

Suppose that we wanted to rotate the ellipse by an angle of § radians and shift
the center of the ellipse 2 units to the right and 1 unit up. Using complex
arithmetic, we can easily generate a parametric equation r (¢) that does so:
r(t)=s(t)e's +(2+19)
T .. .
cost + isint) (cos 3 + isin 6) +(2+14)

= (2
_ LT T _
<2costcosf — sin ¢ sin 6) +i (2costs1ng + sint cos 6) +(244)

1 3
= <\/§cost— §sint—|—2> + 4 (cost+ %sint—i—l)
1 3
= (\/gcost Esint+2, cost + gsint+ 1) , for 0 <t < 2m.

Figure 2.7 shows parametric plots of these ellipses, using the software program
Maple.

If we let K > 0 be a fixed positive real number, then the transformation
w=2S(z)=Kz=Kzx+iKy

is a one-to-one mapping of the z plane onto the w plane and is called a magni-
fication. If K > 1, it has the effect of stretching the distance between points
by the factor K. If K < 1, then it reduces the distance between points by the
factor K. The inverse transformation is given by

1 1 1
— g-1 = — = — ) —
z=5""(w) = =w u—+i—v

and shows that S is one-to-one mapping from the z plane onto the w plane. The
effect of magnification is shown in Figure 2.8.
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y v
Ki Ki1
w=Kz
u=Kx
i v=Ky !
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1 K | 1 K

Figure 2.8  The magnification w = S (z) = Kz = Kz + iKy.

Finally, if we let A = Ke'® and B = a + ib, where K > 0 is a positive real
number, then the transformation

w=1L(z)=Az+ B

is a one-to-one mapping of the z plane onto the w plane and is called a linear
transformation. It can be considered as the composition of a rotation, a mag-
nification, and a translation. It has the effect of rotating the plane through an
angle given by o = Arg A, followed by a magnification by the factor K = |A|,
followed by a translation by the vector B = a +ib. The inverse mapping is given
b 2 =l & (whs %w — % and shows that L is a one-to-one mapping from the
z plane onto the w plane.

B EXAMPLE 2.9 Show that the linear transformation w = iz + i maps the
right half-plane Re (z) > 1 onto the upper half-plane Im (w) > 2.

Solution (Method 1): Let A = {(x, y) : « > 1}. To describe B = f(A), we

w—1

solve w = iz + i for z to get z = “~* = —jw — 1 = f~! (w). Using Equations
(2-5) and the method of Example 2.7 we have

utiv=w=f(z)EB+= fl(w)=2¢€A
&= Haumlriad
—v—-—1—iuec A
— (v—1,—u)e A
<—v—12>1
v > 2.

Thus, B ={w = u+ iv : v > 2}, which is the same as saying Im (w) > 2.
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(Method 2): When we write w = f (z) in Cartesian form as
w=u+iw=i(zr+iy)+i=—-y+i(x+1),

we see that the transformation can be given by the equations v = —y and
v = x + 1. Substituting x = v — 1 in the inequality Re(z) = = > 1 gives
v—12>1, or v > 2, which is the upper half-plane Im (w) > 2.

(Method 3): The effect of the transformation w = f (z) is a rotation of the plane

through the angle o = 5 (when z is multiplied by i) followed by a translation

by the vector B = i. The first operation yields the set Im (w) > 1. The second
shifts this set up 1 unit, resulting in the set Im (w) > 2.

We illustrate this result in Figure 2.9.

i w=iz+i \ \\i

7

> X > U

Y \

Figure 2.9  The linear transformation w = f (z) =iz + i.

Translations and rotations preserve angles. First, magnifications rescale dis-
tance by a factor K, so it follows that triangles are mapped onto similar triangles,
preserving angles. Then, because a linear transformation can be considered to
be a composition of a rotation, a magnification, and a translation, it follows
that linear transformations preserve angles. Consequently, any geometric object
is mapped onto an object that is similar to the original object; hence linear
transformations can be called similarity mappings.

B EXAMPLE 2.10 Show that the image of Dy (=1 —i) ={z: |z + 1+ < 1}
under the transformation w = (3 — 44) z 4 6 + 2i is the open disk D5 (=1 + 3i) =
{w:|w+1-3i] <5}
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Solution The inverse transformation is z = “’ggji, so if we designate the

range of f as B, then

w=f(z2) € B+ f1(w)=2¢€ D (~1—1)
w— 6 — 2i

3—4i
w—6—2i

' 3—4i
w— 6 — 2i

' 3—4i
= |w—6—2i+(1+1i)(3—4i) <5

— Jw+1-3i] <5.

€Dy (—1—14)

+14+14 <1

+ 14| [3—4i] <1-]3— 4i

Hence the disk with center —1 — 7 and radius 1 is mapped one-to-one and onto
the disk with center —1 + 3¢ and radius 5 as shown in Figure 2.10.

r w=_S8(2) r
—_—

<l Ly x <l 11 L iy y
<€ > <

Y

Figure 2.10  The mapping w = S (z) = (3 — 47) z + 6 + 2i.

B EXAMPLE 2.11 Show that the image of the right half-plane Re(z) > 1
under the linear transformation w = (—1 + ¢) z—24-3i is the half-plane v > u+7.

Solution The inverse transformation is given by
w+2-=3i u+2+i(v=23)

B NGTFOR ¢ =~ ORDIS1

which we write as
—u—|—v—5+_—u—v+1
i .
2 2

T4y =

Substituting z = w into Re(z) = & > 1 gives w > 1, which
simplifies to v > uw + 7. Figure 2.11 illustrates the mapping.
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i w=f(2) i
—

Figure 2.11  The mapping w = f(2) = (=1 +14)z — 2 + 3i.

——————— ~EXERCISES FOR SECTION 2.1

1. Find f (1 4 i) for the following functions.

(@) @)=zt 272+ 5,
(b) f(2) = =1
(© f(2)=f(z+iy) =z +y+i(®y—y°).
(d) f(2) = 2% 4+ 427 — 5Re (2) + Im (2) .
2. Let f(z) = 2" — 52" + 92", Use polar coordinates to find
(a) f(=1+71)

(b) f(1+iv3).

3. Express the following functions in the form u (z, y) + iv (z, y).

4. Express the following functions in the polar coordinate form w (7, 8) + v (r, 0).
(a) f(z)=2°+7°.
(b) f(z) =2"+7%
(c) For what values of z are the above expressions valid? Why?

5. Let f(2) = f(x +1iy) = €” cosy + ie” siny. Find
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(©) f (%)
(d) f(2+im)
(e) f(3mi).

)

(f) Is f a one-to-one function? Why or why not?

6. For z #0, let f(2) = f(z+iy) = iIn (as2 + y2) + iarctan £. Find
(1)

! (\/_+z)
f(14iv3).
f(3+44i).

s [ a one-to-one function? Why or why not?

(a) f
(b)
(c)
(d)
(e) I
7. For z # 0, let f(z) =Inr + 0, where r = |z|, and § = Arg z. Find

8. Suppose that f maps A into B, g maps B into A, and that Equations (2-3) hold.
(a) Show that f is one-to-one.
(b) Show that f maps A onto B.

9. Suppose [ is a one-to-one mapping from D onto T" and that A is a subset of D.

(a) Show that f is one-to-one from A onto B, where B = {f(z):z € A}.

(b) Show, additionally, that if g is one-to-one from B onto S, then h (z) is
one-to-one from A onto S, where h (z) = g (f (2)).
10. Let w= f(2) = (34 4i)z —2+1.
(
(

a) Find the image of the disk |z — 1] < 1.

)
b) Find the image of the line x =¢, y =1—2t for —oo < t < 0.
(c) Find the image of the half-plane Im (z) > 1.

)

(d) For parts (a) and (b), and (c), sketch the mapping. Identify three
points of your choice and their corresponding images.

11. Let w = (2+14)z — 2i. Find the triangle onto which the triangle with vertices
z1=—2+1, zo = =2+ 2i, and z3 = 2 + 7 is mapped.
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12. Let S (z) = Kz, where K > 0 is a positive real constant. Show that the equation
|S (21) — S (z2)| = K |z1 — 22| holds and interpret this result geometrically.

13. Find the linear transformations w = f (z) that satisfy the following conditions.

(a) The points z; = 2 and z2 = —3i map onto wi; = 1+ 4 and wy = 1.

(b) The circle |z| = 1 maps onto the circle |w — 3+ 2| = 5, and f (—i) =
3+ 3i.
(¢) The triangle with vertices —4 + 2i, —4 + Ti, and 1 + 27 maps onto the

triangle with vertices 1, 0, and 1 + ¢, respectively.

14. Give a proof that the image of a circle under a linear transformation is a circle.
Hint: Let the circle have the parametrization z = zp + Re’,0 < t < 27.

15. Prove that the composition of two linear transformations is a linear transformation.

16. Show that a linear transformation that maps the circle |z — 29| = R1 onto the
circle [w — wg| = Rz can be expressed in the form

A(w —wo) R1 = (2 — 20) Ra, where |A] = 1.

2.2 THE MAPPINGS w = 2" and w = z=

In this section we turn our attention to power functions.
For z = re’® # 0, we can express the function w = f(z) = 22 in polar
coordinates as

w=f(z) =22 =re?,

If we also use polar coordinates for w = pe'® in the w plane, we can express this
mapping by the system of equations

p=r? and ¢ =26.

Because an argument of the product (z) (z) is twice an argument of z, we
say that f doubles angles at the origin. Points that lie on the ray r > 0, 6 = «
are mapped onto points that lie on the ray p > 0, ¢ = 2a.. If we now restrict the
domain of w = f (z) = 22 to the region

A;{rew:r>0 and —573<0§72T}, (2-6)

then the image of A under the mapping w = 22 can be described by the set
B={pe"®:p>0 and —-mw<op<m}, (2-7)

which consists of all points in the w plane except the point w = 0.
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The inverse mapping of f, which we denote g, is then

z=g(w)=w? =p2e's,

[Nis8

where w € B. That is,

2= g (w)=mwi = |w‘%eiw’

where w # 0. The function g is so important that we call special attention to it
with a formal definition.

Definition 2.1: Principal square root

The function
g(w) =w? = |w|%ei LI for w # 0, (2-8)

is called the principal square root function.

We leave as an exercise to show that f and g satisfy Equations (2-3) and
thus are inverses of each other that map the set A one-to-one and onto the set B
and the set B one-to-one and onto the set A, respectively. Figure 2.12 illustrates
this relationship.

What are the images of rectangles under the mapping w = 22? To find out,
we use the Cartesian form

w=u+iv=f(z)=2"=2"—y*+i2zy = (2 — %, 2zy) = (u, v)

and the resulting system of equations

u=2x?—y? and v = 2xy. (2-9)

\
\ rd
\\ /
2 ~ /
W=z = \ / P
_ (Y § \ / <
\ -
A / -
Y
P - u
-7/ \\\\
7N S
I =7 / \ ~
Z=w2 ~ / \ ~
\ ~
/
/ \
/ \\

Figure 2.12  The mappings w = 22 and z = we.
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B EXAMPLE 2.12  Show that the transformation w = f (z) = 22, for 2z # 0,

usually maps vertical and horizontal lines onto parabolas and use this fact to
find the image of the rectangle {(x, y) : 0 <z <a, 0 <y < b}.

Solution Using Equations (2-9), we determine that the vertical line x = a is
mapped onto the set of points given by the equations © = a? — y? and v = 2ay.
If a # 0, then y = 5~ and

s (02
=a° - —. 2-10
st L (2:10)
Equation (2-10) represents a parabola with vertex at a?, oriented horizontally,
and opening to the left. If a > 0, the set {(u, v)iu=a®—y*v= 2ay} has
v > 0 precisely when y > 0, so the part of the line x = a lying above the z-axis
is mapped to the top half of the parabola.
The horizontal line y = b is mapped onto the parabola given by the equations
u =22 —b% and v = 2zb. If b # 0, then as before we get

v
u=—b"+ ek (2-11)
Equation (2-11) represents a parabola with vertex at —b2, oriented horizon-
tally and opening to the right. If b > 0, the part of the line y = b to the
right of the y-axis is mapped to the top half of the parabola because the set
{(u, v) s w=2* = b, v = 2bx} has v > 0 precisely when z > 0.

Quadrant I is mapped onto quadrants I and II by w = 22, so the rectangle
0 <z <a 0<y<bis mapped onto the region bounded by the top halves of
the parabolas given by Equations (2-10) and (2-11) and the u-axis. The vertices
0, a, a + ib, and ib of the rectangle are mapped onto the four points 0, a?,
a? — b% 4 i2ab, and — b, respectively, as indicated in Figure 2.13.

Finally, we can easily verify that the vertical line z = 0, y # 0 is mapped
to the set {(—yz, 0) ty # 0}. This is simply the set of negative real numbers.
Similarly, the horizontal line y = 0, x # 0 is mapped to the set {(m2, 0) O # 0},
which is the set of positive real numbers.

What happens to images of regions under the mapping

. Arg(z)
132

ol
VIR

w:f(z):|z|%e =r2e's for z = re' £0,

where —m < 6 < 7?7 If we use polar coordinates for w = pe’® in the w plane, we
can represent this mapping by the system

p:r% and ¢ = —. (2:12)

Equations (2-12) indicate that the argument of f (z) is half the argument of
z and that the modulus of f (2) is the square root of the modulus of z. Points
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y
T v
\
) ib|a+ib —/a*=b%+i2ab
e 2.
w =72
—_— 1'
a
— —X
¢ 0.5

Figure 2.13  The transformation w = z~.

y v
A
1
w=2z2
5
,,,,,,,,,,,,, > X = = > U
TS N
- ~o — AR =~
- / \ -~ p=r2 - N
g ’ \ Sso [N Sl
- / AN - ¢=Q : \\ N -
/ N 2 TN
/ \ RN
/ % [ N
/ \ —m<O<m R\ |
Y ¢

Figure 2.14  The mapping w = 23,

that lie on the ray r > 0, § = a are mapped onto the ray p > 0, ¢ = 5. The
image of the z plane (with the point z = 0 deleted) consists of the right half-
plane Re (w) > 0 together with the positive v-axis. The mapping is shown in

Figure 2.14.

We can use knowledge of the inverse mapping z = w? to get further insight

into how the mapping w = 22 acts on rectangles. If we let z = x + iy # 0, then
z=w?=u?— v+ 2w,

and we note that the point z = x + iy in the z plane is related to the point
. 1. .
w = u + 1w = 22 in the w plane by the system of equations

r=u?—-v? and y=2uw. (2-13)
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B EXAMPLE 2.13 Show that the transformation w = f (z) = 23 usually maps
vertical and horizontal lines onto portions of hyperbolas.

Solution Let a > 0. Equations (2-13) map the right half-plane given by
Re (z) > a (i.e., z > a) onto the region in the right half-plane satisfying u? —v? >
a and lying to the right of the hyperbola u? —v? = a. If b > 0, Equations (2-13)
map the upper half-plane Im (z) > b (i.e., ¥ > b) onto the region in quadrant
I satisfying 2uv > b and lying above the hyperbola 2uv = b. This situation
is illustrated in Figure 2.15. We leave as an exercise the investigation of what
happens when a = 0 or b = 0.

A
y W:Z%

\ — 3

9
2_
2uv=">b

y=h 4 z=w? 1F

\2rn|
x=a u2—v2 =aqa
< T T > X T T —> U
-3 3 6 9 1 2 3

=

Figure 2.15  The mapping w = z2.

We can easily extend what we’ve done to integer powers greater than 2. We
begin by letting n be a positive integer, considering the function w = f (z) = 2",
for z = re’ # 0, and then expressing it in the polar coordinate form

w=f(z) = 2" =r"e" (2-14)
If we use polar coordinates w = pe’® in the w plane, the mapping defined
by Equation (2-14) can be given by the system of equations

n

p=1r" and ¢ =nb.

The image of the ray r > 0, § = « is the ray p > 0, ¢ = na, and the angles
at the origin are increased by the factor n. The functions cosnf and sinné are
periodic with period 27”, so f is in general an n-to-one function; that is, n points
in the z plane are mapped onto each nonzero point in the w plane.

If we now restrict the domain of w = f (z) = 2™ to the region

E{rew:r>0 and 7T<0§7r},
n n

then the image of F under the mapping w = 2" can be described by the set

F:{pei¢:p>0 and —7r<¢§7r},
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which consists of all points in the w plane except the point w = 0. The inverse
mapping of f, which we denote g, is then

1
e=g(w)=wr =p" s,
where w € F. That is,
1 Arg(w)

where w # 0. As with the principal square root function, we make an analogous
definition for nth roots.

Definition 2.2: Principal nth root
The function

g(w):w%:|w|%e o for w # 0,

is called the principal nth root function.

We leave as an exercise to show that f and g are inverses of each other that
map the set E one-to-one and onto the set F' and the set F' one-to-one and onto
the set E, respectively. Figure 2.16 illustrates this relationship.

y v
W:Z"
—_—
T
L X p - == u
Sa it/
~u -~
~ I=wn

Figure 2.16 ~ The mappings w = 2" and z = w.

The Quadratic Formula

We are now able to present a familiar result. It’s proof, which is left as an
exercise, depends on the ideas of this section, and Section 1.5.
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D Theorem 2.1 (The Quadratic Formula) The solutions to the equation
az? +bz+c=0 are

—b+ Vb?2 — 4ac . —b— Vb?% — dac
a

e AU
2 naz 2% :

where the principal square root, Equation (2-8), is used in each case.

B EXAMPLE 2.14 Find all solutions to the equation 22 + z + iz + 5i = 0.

Solution First, rewrite the equation as z? + (1 +4)z + 5i = 0. The quadratic
formula then gives

(1+4) £ /(1 +i)2—41)(5i) —(1+i)+ \/—18z’.

2(1) 2

Now, Arg(—18i) = — 7, and | — 18i| = 18, so by Theorem 2.1 and Equation (2-8)
the solutions are

i i ; 2 JOYi
(i tishedd  —(14ptsyzeid —(1+)=3v2(F-if)

2 - 2 a 2

z =

Simplifying the last expression gives z =1 —2i and z = —2 + 4.

——————— ~EXERCISES FOR SECTION 2.2

1. Find the images of the mapping w = z? in each case, and sketch the mapping.

(a) The horizontal line {(z, y) : y = 1}.
(b) The vertical line {(z, y) : = 2}.
¢) The rectangle {(z,y) : 0 <z <2,0<y<1}.

(e) The infinite strip {(z, y) : 1 <z < 2}.
(f) The right half-plane region to the right of the hyperbola 2? —¢* = 1.

)
)
(c)
(d) The triangle with vertices 0, 2, and 2 + 2i.
)
)
(g) The first quadrant region between the hyperbolas zy = % and zy = 4.

N|=

2. For what values of z does (22) = z hold if the principal value of the square root

is to be used?

3. Solve the following quadratics; use Theorem 2.1 if necessary.

(a) 22% 4+ 5iz — 2 = 0 (useful for Exercise 2, Section 8.2).
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(b) 322 — 10z + 3 (useful for Exercise 6, Section 8.2).
(c) 22+ 2z +5 =0 (useful for Exercise 4a, Section 12.3).
(d) 22° 4+ 22+ 1 = 0 (useful for Exercise 5a, Section 12.3).

4. Prove Theorem 2.1, the quadratic formula.

5. Use your knowledge of the principal square root function to explain the fallacy in

10.

11.

12.

the following logic: 1 = 1/(=1) (1) = /(—1)/(=1) = () (i) = —1.

1 Arg(w) | .
. Show that the functions f (z) = 2% and g (w) = w? = \w\é ¢ with domains

given by Equations (2-6) and (2-7), respectively, satisfy Equations (2-3) of Sec-
tion 2.1. Thus, f and g are inverses of each other that map the shaded regions in
Figure 2.14 one-to-one and onto each other.

. Sketch the set of points satisfying the following relations.

(a) Re (2%) > 4.
(b) Im (2*) > 6.

. Find and illustrate the images of the following sets under the mapping w = 23,

(a) {rew:?">1andg<0<g}.

(b) {re” :1<r<9and0<6<2}.

(c) {rew:r<4and —T<0<ZI}.

(d) The vertical line {(z, y) : © = 4}.

e) The infinite strip {(z, y) : 2 < y < 6}.
)

f) The region to the right of the parabola x = 4 — %.
Hint: Use the inverse mapping z = w? to show that the answer is the

right half-plane Re (w) > 2.

(
(

. Find the image of the right half-plane Re (z) > 1 under the mapping w = z*42z+1.

Find the image of the following sets under the mapping w = 2°.

(@) {re? :1<r<2and 2 <0< Z}.
(b) {re’ :r>3and & <0< 2},

Find the image of {rew ir>2, and § <6< %} under the following mappings.

(a) w=2%
(b) w = z*
(c) w= 2%

(a) w=z2
(b) w=z3
(c) w=z1
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13. Show what happens when ¢ = 0 and b = 0 in Example 2.13
14. Establish the result referred to in the comment after Definition 2.2.

2.3 LIMITS AND CONTINUITY

Let u = wu(x, y) be a real-valued function of the two real variables z and y.
Recall that u has the limit ug as (z, y) approaches (z, yo) provided the value of
u(z, y) can be made to get as close as we want to the value ug by taking (z, y)
to be sufficiently close to (zg, yo). When this happens we write

lim u (x, = ug.
oy (5 Y = o

In more technical language, u has the limit ug as (z, y) approaches (zo, yo)
iff |u(x, y) — ug| can be made arbitrarily small by making both |z — zg| and
|y — yo| small. This condition is like the definition of a limit for functions of one
variable. The point (x, y) is in the xy plane, and the distance between (z, y)

and (zo, yo) 18 \/(x — x0)2 + (y — yo)*®. With this perspective we can now give
a precise definition of a limit.

Definition 2.3: Limit of u (x, vy)

The expression lim u (xz, y) = up means that for each number £ > 0,
(@,y)—(z0,y0)
there is a corresponding number ¢ > 0 such that

lu(z, y) —ug| <& whenever 0< \/(x —20)+ (y—yo)> < 0. (2-15)

B EXAMPLE 2.15 Show, if =22 4y li =8,
ow, if u(z, y) (@242 vien (z,y)1—>m(0,0) u(x, y)

Solution If z =rcosf and y = rsin6, then

2r3 cos® 6

r2cos?2 0 + r2sin® 0

u(z, y) = = 2rcos® 6.

Because \/(x —0)*+ (y — 0)> = r and because |cos® 6| < 1,
lu(z, y) — 0] = 2r|cos® 0] < e whenever 0</22+y?=r< %

Hence, for any € > 0, Inequality (2-15) is satisfied for § = 5; that is, u (x, y) has
the limit ug = 0 as (x, y) approaches (0, 0).
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The value ug of the limit must not depend on how (z, y) approaches (zg, yo),
so u (z, y) must approach the value ug when (z, y) approaches (zg, yo) along any
curve that ends at the point (zg, yo). Conversely, if we can find two curves C
and Cy that end at (zg, yo) along which u (z, y) approaches two distinct values
u1 and ug, then u (z, y) does not have a limit as (x, y) approaches (zg, yo).

B EXAMPLE 2.16 Show that the function u (x, y) = ;2{?—?!2 does not have a
limit as (z, y) approaches (0, 0).

Solution If we let (x, y) approach (0, 0) along the z-axis, then

()(0)

= 1. 5 5 = 0.
(x,o)go,o) 22 + 02

(z, 0)

lim wu
(J),O)—)(0,0)

But if we let (x, y) approach (0, 0) along the line y = x, then

u(x, ) = lim M = 1

lim .
(z,2)—(0,0) (z,2)—(0,0) T2 + 22 2

Because the value of the limit differs depending on how (z, y) approaches (0, 0),
we conclude that u (z, y) does not have a limit as (z, y) approaches (0, 0).

Let f (2) be a complex function of the complex variable z that is defined for
all values of z in some neighborhood of zy, except perhaps at the point z;. We
say that f has the limit wq as z approaches zg, provided the value f (z) can be
made as close as we want to the value wqy by taking z to be sufficiently close to
zp. When this happens we write

lim f(z) = wo.

Z—20

The distance between the points z and zy can be expressed by |z — zg|, so
we can give a precise definition similar to the one for a function of two variables.

Definition 2.4: Limit of [ (2)

The expression lim f (z) = wg means that for each real number € > 0, there
zZ—20

exists a real number § > 0 such that

|f () —wo| < e whenever 0 < |z— z| <.

© Jones & Bartlett Learning, LLC. NOT FOR SALE OR DISTRIBUTION.



2.3 m Livits AND CONTINUITY é

t
1)
\ w=f(z) »
0

2o

f)

Figure 2.17  The limit f (2) — wo as z — zo.

Using Equations (1-49) and (1-51), we can also express the last relationship
as

f(2) € D. (wy) whenever z € Dj(z).

The formulation of limits in terms of open disks provides a good context
for looking at this definition. It says that for each disk of radius € about the
point wq (represented by D, (wp)) there is a punctured disk of radius § about
the point zy (represented by D (zy)) such that the image of each point in the
punctured § disk lies in the ¢ disk. The image of the § disk does not have to fill
up the entire ¢ disk; but if z approaches zy along a curve that ends at zg, then
w = f(z) approaches wg. The situation is illustrated in Figure 2.17.

B EXAMPLE 2.17 Show that if f(z) = Z, then lim f(z) = Zy, where zp is

zZ—20
any complex number.

Solution As f merely reflects points about the y-axis, we suspect that any e
disk about the point Zg would contain the image of the punctured ¢ disk about
zg if 0 = €. To confirm this conjecture, we let € be any positive number and
set 0 = €. Then we suppose that z € D3 (z9) = D} (z0), which means that
0 < |z — 29| < e. The modulus of a conjugate is the same as the modulus of
the number itself, so the last inequality implies that 0 < |z — 2¢| < . This is
the same as 0 < [Z — Zg| < €. Since f(z) = Z and wy = Zg, this is the same as
0 < |f(z) —wo| <&, or f(z) € D, (wg), which is what we needed to show.

If we consider w = f(z) as a mapping from the z plane into the w plane
and think about the previous geometric interpretation of a limit, then we are led
to conclude that the limit of a function f should be determined by the limits of
its real and imaginary parts, u and v. This conclusion also gives us a tool for
computing limits.
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D Theorem 2.2 Let f(2) = u(z, y) + w(z, y) be a complex function that is
defined in some neighborhood of zy, except perhaps at zg = xg + iyg. Then

g, F(2) = w0 = o o (2-16)
zZ—20
iff

im u(z, =ug and lim v (x, s 9-17
(@,5)— (%0,30) (z, y) =uo o (@, y) =vo (2-17)

Proof We first assume that Statement (2-16) is true and show that State-
ment (2-17) is true. According to the definition of a limit, for each € > 0,
there is a corresponding 6 > 0 such that

f(2) € D. (wy) whenever z € Dj (29);
that is,
|f (2) —wo| < e whenever 0 < |z — 2zp| <.

Because f(z) —wo = u(x, y) —ug+i (v (z, y) — vo), we can use Inequalities
(1-21) to conclude that

lu (2, y) —uo| <|f(2) —wo| and |v(z,y)—wvol <[f(2) —wol.

It now follows that |u(z, y) —ug| < € and |v(z, y) —vg| < & whenever
0 < |z — 20| < 4, and so Statement (2-17) is true.

Conversely, we now assume that Statement (2-17) is true. Then for each
e > 0, there exists 6; > 0 and > > 0 so that

lu(z y) —ug| < whenever 0 < |z — 2| <1 and

lv(z y) —vo| < whenever 0 < |z — 2| < d2.

NN ™

We choose § to be the minimum of the two values §; and d3. Then we can
use the triangle inequality

|f (2) —wo| < |u(z, y) —uo| + v (x, y) — vol

to conclude that
€

[ (2) = wol < 5 + 2

=¢ whenever 0 < |z — 2| < §;

that is,

f(z) € De (wy) whenever =z € Dj (2g).

Hence the truth of Statement (2-17) implies the truth of Statement (2-16),

and the proof of the theorem is complete.

© Jones & Bartlett Learning, LLC. NOT FOR SALE OR DISTRIBUTION.



2.3 m Livits AND CONTINUITY 79

W EXAMPLE 2.18 _ Show that. lim (22 =22+1) = -1

Solution We let
fe)=22—224+1=a?—y* 20 +1+4i(2zy —2y).
Computing the limits for v and v, we obtain

lim u(x, y)=1—-1—-2+1=-1 and
(z, y)—(1, 1) ( )

lim v (x, =2-2=0,
(z, y)—(@1, 1) (@ 9)

so our previous theorem implies that lirlr}r fz)=-1.
zZ— (2

Limits of complex functions are formally the same as those of real functions,
and the sum, difference, product, and quotient of functions have limits given by
the sum, difference, product, and quotient of the respective limits. We state this
result as a theorem and leave the proof as an exercise.

D Theorem 2.3 Suppose that lim f(z) = A and lim g (z) = B. Then

lim [f () £ g ()] = A% B, (2/18)
ILm f(2)g(z)=AB, and (2-19)
o fz) _A

zlgrzlo LIEiONG where B # 0. (2-20)

Definition 2.5: Continuity of u (x, y)

Let u (z, y) be a real-valued function of the two real variables z and y. We
say that u is continuous at the point (zg, yo) if three conditions are satisfied:

im u(x, y) exists; (2-21)

(z,y)—(20,v0)
u(xo, yo) exists; and (2-22)
u(z, y) =u(xo, yo) - (2-23)

(z,y)—(z0,Y0)
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Condition (2-23) actually implies Conditions (2-21) and (2-22) because the
existence of the quantity on each side of Equation (2-23) is implicitly understood
to exist. For example, if u (z, y) = % when (z, y) # (0, 0) and if » (0, 0) = 0,
then u (z, y) — 0 as (x, y) — (0, 0) so that Conditions (2-21), (2-22), and (2-23)
are satisfied. Hence u (z, y) is continuous at (0, 0).

There is a similar definition for complex-valued functions.

Definition 2.6: Continuity of f (2)

Let f (2) be a complex function of the complex variable z that is defined for
all values of z in some neighborhood of zy. We say that f is continuous at
zp if three conditions are satisfied:

lim f(z) exists; (2-24)
f(z0) exists; (2-25)
Tim £ (2) = £ (z0) . (226)

Remark 2.3 Example 2.17 shows that the function f(z) = Z is continuous. =

A complex function f is continuous iff its real and imaginary parts, u
and v, are continuous. The proof of this fact is an immediate consequence of
Theorem 2.2. Continuity of complex functions is formally the same as that of
real functions, and sums, differences, and products of continuous functions are
continuous; their quotient is continuous at points where the denominator is not
zero. These results are summarized by the following theorems. We leave the
proofs as exercises.

D Theorem 2.4 Let f (2) = u(z, y)+iv (z, y) be defined in some neighborhood
of zg. Then f is continuous at zyg = xo + iyo iff v and v are continuous at

(o, Z/o)-
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D Theorem 2.5 Suppose that f and g are continuous at the point zy. Then
the following functions are continuous at zg:

o the sum f +g, where (f +9) (2) = £ (2) +9(2);
+ the difference f — g, where (f —g) (2) = f(2) —g(2);
+ the product fg, where (fg) (z) = f(2) g (2);

+ the quotient 5, where 5(2’) = %, provided g (z9) # 0; and

* the composition f o g, where (fog)(z) = f(g(z)), provided f is contin-
uous in a neighborhood of g (zg) .

B EXAMPLE 2.19 Show that the polynomial function given by
w=P(2)=ag+a1z+az> +--- 4 apz"

is continuous at each point zp in the complex plane.

Solution If ag is the constant function, then lim ag = agp; and if a; # 0,
zZ—20

then we can use Definition 2.3 with f (2) = a1z and the choice § = IaeTl to prove
that lim (a1z) = a1zp. Using Property (2-19) and mathematical induction, we
z—2z0

obtain

lim (akzk) = apzf for k=0,1,2,...,n. (2-27)

zZ—2z0

We can extend Property (2-18) to a finite sum of terms and use the result of
Equation (2-27) to get

n
akzk> = Zakzg = P (zp).
0 k=0

Conditions (2-24), (2-25), and (2-26) are satisfied, so we conclude that P is
continuous at zg.

n

lim P (z) = lim (
z—20 z—2zo i

One technique for computing limits is to apply Theorem 2.5 to quotients. If
we let P and @ be polynomials and if @ (z9) # 0, then

P(z) _ P(x)

Q6 Q)
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Another technique involves factoring polynomials. If both P (z9) = 0 and
Q (z0) = 0, then P and @ can be factored as P (z) = (z — 2z0) P1 (2) and Q (z) =
(z —20) Q1 (2). If Q1 (20) # 0, then the limit is
P(z) _ . 2P Pi(x)

lim =

zZ—20 Q (Z) Zl’rglo (Z - ZO) Ql (Z) B Ql (ZO) '

B EXAMPLE 2.20 Show that lim —Z52i =1 —3.

zZ
2 14i 22—22+2

Solution Here P and @ can be factored in the form

P(z)=(z—1—-4)(z+14¢) and Q(z)=(=—-1—-19)(z—=1+1)

so that the limit is obtained by the calculation

. 22 -2 I (z=1—-9)(2+1+1)
S 222242 stk (r—1-4)(z—1+9)
z+1+14
= 1m i 11
z—l+i 2z — 141
)1+
S (14d) =144
242
Ing, %
=1—i

"""" >»EXERCISES FOR SECTION 2.3
1. Find the following limits.

(a) lim (2 —4z+42+5i).

z—2+1

: 244242
(b) lim ===,

z2—1

. 2242—2+i
(d) ZEIEH 222241 °

. 2242-1-3i :
(e) 2211]}%1, 29212 by factorlng.
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2. Determine where the following functions are continuous.

11.

(a) 2% —92% + iz — 2.
(b) ZHL.

(0) ==t

(@) s

(e) £t

(f) =2

. State why lim (ez cosy + z‘ny) = e cos yo + ix2yo.

z—20

. State why hm [ln (w2 + y2) + iy] =In (m% + yg) + 1Yo, provided |zo| # 0.

. Show that
(a) lir% % =0.
b) lim £ = 0.
(b) lim <

. Let f(2) = %ﬁz) when z # 0, and let f (0) = 0. Show that f (z) is continuous for

all values of z.
2

. Let f(2) =25 = 71 —y +i2oy

BIE z24y?

(a) Find ;11% f(2) as z — 0 along the line y = x.

(b) Find ili% f(2) as z — 0 along the line y = 2z.

(¢) Find il_r% f(2) as z — 0 along the parabola y = z?.

(d) What can you conclude about the limit of f (z) as z — 07 Why?

s Let f(2)=f(z,y) = 2+2y5 +Z516+ 7 when z # 0, and let f (0) =

(a) Show that lin%) f(z) = f(0) = 0if z approaches zero along any straight
line that passes through the origin.

(b) Show that f is not continuous at the point 0.

. For 2z #0, let f(2z) = Z. Does f (z) have a limit as z — 07
10.

Does hm Arg z exist? Why? Hint: Use polar coordinates and let z approach —4

from the upper and lower half-planes.

Let f(z):z% =r2 (cos & +ising), where z = e, > 0, and —7 < 0 < 7. Use

the polar form of z and show that
(a) f(z) — i as z— —1 along the upper semicircle r =1, 0 < 0 < 7.

(b) f(z) — —i as z — —1 along the lower semicircle r =1, —7 < 6 < 0.
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Let f (z) = mj;?’? when z # 0, and let f (0) = 1. Show that f (z) is not continuous
at zop = 0.

Let f (2) = ze¥ 4+ iy*e™". Show that f (z) is continuous for all values of z.

Use the definition of the limit to show that 11&4‘ 2% = 7+ 24i.

Let f(z) = Rez(‘z) when z # 0, and let f (0) = 1. Is f (z) continuous at the origin?

I
Let f(z) = [Re‘(j‘)]z when z # 0, and let f(0) = 0. Is f(z) continuous at the
origin?

1 . Arg(z) . . .
Let f(z) = 2% = |z|2 e 57 where 2 # 0. Show that f (z) is discontinuous at
each point along the negative z-axis.

Let f (z) = In |z|+iArg z, where —m < Argz < 7. Show that f (z) is discontinuous
at zo = 0 and at each point along the negative z-axis.
Let |g(z)] < M and lim f(z) = 0. Show that lim f(z)g(z) = 0. Note:
z2—20 220
Theorem 2.3 is of no use here because you don’t know whether lim g (z) exists.
z2—2g

Give an €, § argument.

Let Az = z — zo. Show that lim f(z) = wo iff Alim0 f (20 + Az) = wo.

z2—20

Let f (z) be continuous for all values of z.

(a) Show that g (z) = f (Z) is continuous for all z.

(b) Show that g (z) = f (2) is continuous for all z.

Verify the identities

(a) (2-18).

(b) (2-19).

(c) (2-20).

Verify the results of Theorem 2.5.

Show that the principal branch of the argument, Arg z, is discontinuous at 0 and
all points along the negative real axis.

2.4 BRANCHES OF FUNCTIONS

In Section 2.2 we defined the principal square root function and investigated some
of its properties. We left unanswered some questions concerning the choices
of square roots. We now look at these questions because they are similar to
situations involving other elementary functions.

In our definition of a function in Section 2.1, we specified that each value of

the independent variable in the domain is mapped onto one and only one value
in the range. As a result, we often talk about a single-valued function, which
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emphasizes the “only one” part of the definition and allows us to distinguish
such functions from multiple-valued functions, which we now introduce.

Let w = f (2) denote a function whose domain is the set D and whose range
is the set R. If w is a value in the range, then there is an associated inverse
relation z = g (w) that assigns to each value w the value (or values) of z in D
for which the equation f(z) = w holds. But unless f takes on the value w at
most once in D, then the inverse relation g is necessarily many valued, and we
say that g is a multivalued function. For example, the inverse of the function
w = f(z) = 22 is the square root function z = ¢ (w) = w2. For each value z
other than z = 0, then, the two points z and —z are mapped onto the same point
w = f(2); hence g is, in general, a two-valued function.

The study of limits, continuity, and derivatives loses all meaning if an ar-
bitrary or ambiguous assignment of function values is made. For this reason
we did not allow multivalued functions to be considered when we defined these
concepts. When working with inverse functions, you have to specify carefully
one of the many possible inverse values when constructing an inverse function,
as when you determine implicit functions in calculus. If the values of a function
f are determined by an equation that they satisfy rather than by an explicit for-
mula, then we say that the function is defined implicitly or that f is an implicit
function. In the theory of complex variables we present a similar concept.

We now let w = f (z) be a multiple-valued function. A branch of f is any
single-valued function fy that is continuous in some domain (except, perhaps, on
the boundary). At each point z in the domain, it assigns one of the values of f (z).

B EXAMPLE 2.21 We consider some branches of the two-valued square root
function f (z) = 22 (z # 0). Recall that the principal square root function is

1 0 1.0
= 7% oS — +ir? sin — 2-28
r 0052+zr sin 7, (2-28)
where r = |z| and 6 = Arg (z) so that —m < 6 < 7. The function f; is a branch

of f. Using the same notation, we can find other branches of the square root
function. For example, if we let

fo(2) = [ = b cos <9+227T> +irtsin (92%) ,

(2-29)

= r¥eifei™ = it = —f (2),
so f1 and fs can be thought of as “plus” and “minus” square root functions.
The negative real axis is called a branch cut for the functions f; and f,. Each

point on the branch cut is a point of discontinuity for both functions f; and fs.
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B EXAMPLE 2.22 Show that the function f; is discontinuous along the neg-
ative real axis.

Solution Let zy = rpe’™ denote a negative real number. We compute the limit
as z approaches zp through the upper half-plane {z : Im (z) > 0} and the limit as
2 approaches zg through the lower half-plane {z : Im (z) < 0}. In polar coordi-
nates these limits are given by

(S

) 1
lim f1 (re’g) = lim T% ( — +isin — ) =irg,
(r,0)—(ro,m) (r,0)—(ro,m)
. ] 0 1
lim f1 (re’e) = lim r (cos — +4sin 7) = —qir?
(r.6)—(r0,~7) (r,6)—(r0,—) 2 2 o

The two limits are distinct, so the function f; is discontinuous at zj.

Remark 2.4 Likewise, fy is discontinuous at zg. The mappings w = fi (2),
w = fy(z), and the branch cut are illustrated in Figure 2.18. |

We can construct other branches of the square root function by specifying

that an argument of z given by 6 = arg z is to lie in the interval o < 8 < o+ 2.
The corresponding branch, denoted f,, is

0 0
o (2) = % cos — + ir? sin -, 2-30
2 2

wherez:reie#Oanda<6§a+27r.

y v
w=£1(2) i'
-1
——————— X 1 u
|
R -4
|
|
Y
y v
!
w=£,(2) +l
-1 ]
———————— X . u
7=w? i

-

Figure 2.18  The branches fi and f2 of f(z) = 22.
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o2

Figure 2.19  The branch f, of f(2) = 23,

The branch cut for f, is the ray » > 0, § = «, which includes the origin.
The point z = 0, common to all branch cuts for the multivalued square root
function, is called a branch point. The mapping w = f, (z) and its branch cut
are illustrated in Figure 2.19.

2.4.1 The Riemann Surface for w = 22

A Riemann surface is a construct useful for visualizing a multivalued function.
It was introduced by G.F.B. Riemann (1826-1866) in 1851. The idea is ingen-
ious—a geometric construction that permits surfaces to be the domain or range
of a multivalued function. Riemann surfaces depend on the function being in-
vestigated. We now give a nontechnical formulation of the Riemann surface for
the multivalued square root function.

Consider w = f (z) = 23, which has two values for any z # 0. Each function
f1 and f5 in Figure 2.18 is single-valued on the domain formed by cutting the z
plane along the negative z-axis. Let D; and Dy be the domains of f; and fs,
respectively. The range set for f; is the set H; consisting of the right half-plane,
and the positive v-axis; the range set for fy is the set Hs consisting of the left
half-plane and the negative v-axis. The sets H; and Hy are “glued together”
along the positive v-axis and the negative v-axis to form the w plane with the
origin deleted.

We stack D; directly above Ds. The edge of Dy in the upper half-plane
is joined to the edge of D5 in the lower half-plane, and the edge of D in the
lower half-plane is joined to the edge of Dy in the upper half-plane. When these
domains are glued together in this manner, they form R, which is a Riemann
surface domain for the mapping w = f(z) = 2%. The portions of D;, Ds, and
R that lie in {z : |z| < 1} are shown in Figure 2.20.

The beauty of this structure is that it makes this “full square root func-
tion” continuous for all z # 0. Normally, the principal square root function
would be discontinuous along the negative real axis, as points near —1 but above
that axis would get mapped to points close to ¢, and points near —1 but below
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(b) A portion of Dy and its image under w = f,.

N

(¢) A portion of R and its image under w = z2.

Figure 2.20  Formation of the Riemann surface for w = 22: (a) a portion of D; and its
1 1
image under w = z2; (b) a portion of D2 and its image under w = z2; (c) a portion of
1
R and its image under w = z2.
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the axis would get mapped to points close to —i. As Figure 2.20(c) indicates,
however, between the point A and the point B, the domain switches from the
edge of D; in the upper half-plane to the edge of Ds in the lower half-plane.
The corresponding mapped points A’ and B are exactly where they should be.
The surface works in such a way that going directly between the edges of D; in
the upper and lower half-planes is impossible (likewise for D3). Going counter-
clockwise, the only way to get from the point A to the point C, for example, is
to follow the path indicated by the arrows in Figure 2.20(c).

oUWk WN

--—>-EXERCISES FOR SECTION 2.4

. Let fi(z) and f2(z) be the two branches of the square root function given by

Equations (2-28) and (2-29), respectively. Use the polar coordinate formulas in
Section 2.2 to find the image of

(
(

a) quadrant II, z < 0 and y > 0, under the mapping w = f (2)
b )

)

) quadrant II, 2 < 0 and y > 0, under the mapping w = f2 (2
(c) the right half-plane Re(z) > 0 under the mapping w = f1

)

(2).
(d) the right half-plane Re(z) > 0 under the mapping w = fs (z).

. Let a = 0 in Equation (2-30). Find the range of the function w = fa (2).
. Let a = 27 in Equation (2-30). Find the range of the function w = fq (2).

. Find a branch of the square root that is continuous along the negative x-axis.

iArg(z)

. Let fi(2) = |z|% T =13 cos %—i—ir% sin &, where |2| =r # 0, and § = Arg (2).

f1 denotes the principal cube root function.

(a) Show that f1 is a branch of the multivalued cube root f (z) = 23,
(b) What is the range of f1?

(¢) Where is fi continuous?

. Let fo(z) =73 cos (27 + irs sin (&27), where r > 0 and —7 < 0 < .

a

b

(c
(d

(a) Show that f is a branch of the multivalued cube root f(z) = 25,
(b) What is the range of f2?

Where is f2 continuous?

NN N N2

What is the branch point associated with f?

. Find a branch of the multivalued cube root function that is different from those in

Exercises 5 and 6. State the domain and range of the branch you find.

. Let f(z) = 2w denote the multivalued nth root, where n is a positive integer.

(a) Show that f is, in general, an n-valued function.

(b) Write the principal nth root function.
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(c) Write a branch of the multivalued nth root function that is different
from the one in part (b).

9. Describe a Riemann surface for the domain of definition of the multivalued function
(a) w=f(z) = 2.
(b) w=f(z) ==

10. Discuss how Riemann surfaces should be used for both the domain and the range

ol

W=

to help describe the behavior of the multivalued function w = f (z) = 23,

2.5 THE RlECIPROCAL TRANSFORMATION

The mapping w = f(z) = % is called the reciprocal transformation and maps

the z plane one-to-one and onto the w plane except for the point z = 0, which
has no image, and the point w = 0, which has no preimage or inverse image.
Using exponential notation w = pe'?, if z = re'® # 0, we have
w = pe'? = Ly 1672'0. (2-31)
z

The geometric description of the reciprocal transformation is now evident.
It is an inversion (that is, the modulus of % is the reciprocal of the modulus of
z) followed by a reflection through the z-axis. The ray r > 0, § = «, is mapped
one-to-one and onto the ray p > 0, = —«. Points that lie inside the unit circle
C1(0) = {z:]z| =1} are mapped onto points that lie outside the unit circle,
and vice versa. The situation is illustrated in Figure 2.21.

We can extend the system of complex numbers by joining to it an “ideal”
point denoted by oo and called the point at infinity. This new set is called the

y v
53
o
ol =
yd \ w= 1 /7 \\
/ < arning / \
[ 7 / \
I 2 I ] u
\ \ !
\ p1 \ W, 4
\ // \ /
\\\ _f/ \\\ L
-
Wy

Figure 2.21  The reciprocal transformation w = %
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extended complex plane. You will see shortly that the point co has the property,
loosely speaking, that lim z = oo iff lim |z] = oo.
n—oo n—oo

An e neighborhood of the point at infinity is the set {z szl > %} The usual
way to visualize the point at infinity is by using what we call the stereographic
projection, which is attributed to Riemann. Let 2 be a sphere of diameter 1 that
is centered at the point (0, 0, 3) in three-dimensional space where coordinates
are specified by the triple of real numbers (z, y, ). Here the complex number
z = x + 1y is associated with the point z = (z, y, 0).

The point N = (0, 0, 1) on 2 is called the north pole of Q. If we let z be
a complex number and consider the line segment L in three-dimensional space
that joins z to the north pole N = (0,0, 1), then L intersects € in exactly one
point Z. The correspondence z « Z is called the stereographic projection of the
complex z plane onto the Riemann sphere 2.

A point z = x + iy = (2,y,0) of unit modulus will correspond with Z =
(%, g, %) If z has modulus greater than 1, then Z will lie in the upper hemisphere
where for points Z = (z, y, £) we have £ > % If z has modulus less than 1,
then Z will lie in the lower hemisphere where for points Z = (x, y, £) we have
¢ < % The complex number z = 0 = 0 + 0¢ corresponds with the south pole,
S = (0,0, 0). Now you can see that indeed z — oo iff |z2] — o0 iff Z — N.
Hence N corresponds with the “ideal” point at infinity. The situation is shown
in Figure 2.22.

Let’s reconsider the mapping w = % by assigning the images w = oo and
w = 0 to the points z = 0 and z = oo, respectively. We now write the reciprocal
transformation as

% when z # 0 and z # oo;
w=f(z)=< 0 when z = o0; (2-32)
oo when z = 0.

Note that the transformation w = f(z) is a one-to-one mapping of the
extended complex z plane onto the extended complex w plane. Further, f is a
continuous mapping from the extended z plane onto the extended w plane. We
leave the details to you.

N

Figure 2.22  The Riemann sphere.
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B EXAMPLE 2.23 Show that the image of the half-plane A = {z : Re(z) > %}
under the mapping w = 1 is the closed disk D; (1) = {w: |w — 1] < 1}.

z

Solution Proceeding as we did in Example 2.7, we get the inverse mapping of
utiv=w=f(z)=1asz=f"1(w)=21. Then

utiv=weEB > (w)=z=x+iyc A

= — =x+iye A
u—+
u .o—v . A
u2+v2+zu2+v27m+zye
@L*$*R6($+i)>l
w02 4 N2
u 1
— > - 2-33
u2 +v2 T 2 ( )
= u—2u+1+0><1 (2-34)

= w-1)>+@w-0)7<1,

which describes the disk Dj (1). As the > reciprocal transformation is one-to-
one, preimages of the points in the disk D; (1) will lie in the right half-plane
Re (z) > $. Figure 2.23 illustrates this result.

|
—
)=
—_
[\S]
|
NS}
|
—_
)
[\S]

Y (

Figure 2.23  The image of Re(z) > % under the mapping w = %

Remark 2.5 Alas, there is a fly in the ointment here. As our notation indicates,
Equations (2-33) and (2-34) are not equivalent. The former implies the latter,
but not conversely. That is, Equation (2-34) makes sense when (u, v) = (0, 0),
whereas Equation (2-33) does not. Yet Figure 2.23 seems to indicate that f maps
Re(z) > % onto the entire disk D (0), including the point (0, 0). Actually, it
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does not, because (0, 0) has no preimage in the complex plane. The way out
of this dilemma is to use the complex point at infinity. It is that quantity that
gets mapped to the point (u, v) = (0, 0), for as we have already indicated in
Equation (2-32), the preimage of 0 under the mapping % is indeed oc. ]

B EXAMPLE 2.24 For the transformation %, find the image of the portion of
the half-plane Re(z) > § that is inside the closed disk Dy (3) = {z: |z — 3|
<1}.

Solution Using the result of Example 2.23, we need only find the image of the
disk D; (3) and intersect it with the closed disk D; (1). To begin, we note that

D (%) :{(x, y):x2+y2—x<%}.

Because z = f~ ! (w) = %, we have, as before,

S / i 1y 1
u+iv:w€f(D1<§)><=>f_1(w)€D1<§>
1 — 1
<:>—6D1(—)
w 2
— % 4" P (L
u? + v2 u? + v? I\

2 2
<= L + v _ u <§
u? 4 v? u? + v? u2 402 — 4

1 u <3
w2 +0v2 w402 4

= u+2 2+U2> é2
3 “\3/)

which is an inequality that determines the set of points in the w plane that lie on
and outside the circle C’4 (77) {w |w + 3| = 3} Note that we do not have
to deal with the point at infinity this time, as the last inequality is not satisfied
when (u,v) = (0,0).

When we intersect this set with Dj (1), we get the crescent-shaped region
shown in Figure 2.24.

To study images of “generalized circles,” we consider the equation

A(2®*+y*) +Bz+Cy+ D=0,
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>
S

Y /

Figure 2.24  The mapping w = % discussed in Example 2.24.

where A, B, C', and D are real numbers. This equation represents either a circle
or a line, depending on whether A # 0 or A = 0, respectively. Transforming the
equation to polar coordinates gives

Ar? +r(Bcosf+ Csinf) + D = 0.

Using the polar coordinate form of the reciprocal transformation given in
Equation (2-31), we can express the image of the curve in the preceding equa-
tion as

A+ p(Bcos¢— Csing)+ Dp® =0,

which represents either a circle or a line, depending on whether D # 0 or D = 0,
respectively. Therefore, we have shown that the reciprocal transformation w = %
carries the class of lines and circles onto itself.

B EXAMPLE 2.25 Find the images of the vertical lines + = a and the hori-

zontal lines y = b under the mapping w = %

Solution Taking into account the point at infinity, we see that the image of
the line z = 0 is the line u = 0; that is, the y-axis is mapped onto the v-axis.
Similarly, the z-axis is mapped onto the u-axis. Again, the inverse mapping is
z = % = 47 t i 80 if a # 0, the vertical line z = a is mapped onto
the set of (u,v) points satisfying ;>1-5 = a. For (u, v) # (0, 0), this outcome is

equivalent to

1 1 1)? 1\?
2 _ - = 2: = 2: i
ot e Y (u Qa) v <2a> ’

which is the equation of a circle in the w plane with center wy = % and radius

|5-|. The point at infinity is mapped to (u,v) = (0,0).
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z

® Jyneg
ark
1 1 A I 1 ‘1
S S S b=-1
b=1 w:l
: b=-1
—_—
b=1
a=-1 a=1
~= > X < > U
b=-1
a=-1 b=1 a=%
b=-1
( b=1>
/

Figure 2.25  The images of horizontal and vertical lines under the reciprocal trans-
formation.

Similarly, the horizontal line y = b is mapped onto the circle

2 b g Ly g 2 (o4 = 2 IoN
u v —U —s = U v — = | —
b 4b? 2b 2)

which has center wg = —5; and radius }2%|

Figure 2.25 illustrates the images of several lines.

------- >EXERCISES FOR SECTION 2.5

For Exercises 1-8, find the image of the given circle or line under the reciprocal
transformation w = %

. The horizontal line Im (z) = %

. The circle C% (—%) = {z : ‘z—l— %| = %}
. The vertical line Re z = —3.

. The circle Cy (=2) ={z: |z + 2| = 1}.

. The line 2z + 2y = 1.

. The circle C1 (%) = {z: ’z — %| = 1}.
. The circle C1 (%) = {z: |z - %| = 1}.
. The circle Co (=1 +41i) ={z: |z +1—1i| =2}.

© 000 N & Ok W=

. Limits involving co. The function f (z) is said to have the limit L as z approaches
oo, and we write lim f(z) = L iff for every € > 0 there exists an R > 0 such that
z

f(2) € Dc (L) (i.e., |f (2) — L| < €) whenever |z| > R. Likewise, lim f(z) = oo
z—20
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iff for every R > 0 there exists 6 > 0 such that |f (z)] > R whenever z € Dj (z0)
(i.e., 0 < |z — zo| < 0). Use this definition to
(a) show that lim 1 =0.

zZ—00

(b) show that lin% 1 =00

A line that carries a charge of 3 coulombs per unit length is perpendicular to the
z plane and passes through the point zo. The electric field intensity E (z) at the
point z varies inversely as the distance from 2o and is directed along the line from
zo to z. Show that E (z) = %, where k is some constant. (In Section 11.11 we
show that, in fact, k = ¢ so that actually E (z) = =—L-.)

Z—%0

Use the result of Exercise 10 to find the points z where the electric field intensity
E(z) = 0 given the following conditions.

(a) Three positively charged rods carry a charge of 2 coulombs per unit
length and pass through the points 0, 1 — 4, and 1 + 4.

(b) A positively charged rod carrying a charge of  coulombs per unit
length passes through the point 0, and positively charged rods carrying
a charge of ¢ coulombs per unit length pass through the points 2 + ¢
and —2 + 1.

Show that the reciprocal transformation w = % maps the vertical strip given by

<z < % onto the region in the right half-plane Re (w) > 0 that lies outside the

disk Dy (1) ={w: |Jw—1| < 1}.
Find the image of the disk D% (=2) ={z: ’z+ %‘ < 3} under f(z) = 1.

Show that the reciprocal transformation maps the disk |z — 1| < 2 onto the region
that lies exterior to the circle {w : |w + §| = %}

Find the image of the half-plane y > %+ — x under the mapping w = 1.

Show that the half-plane y <  — } is mapped onto the disk [w — 1 —i| < V2 by
the reciprocal transformation.

1
N

Find the image of the quadrant = > 1, y > 1 under the mapping w =

Show that the transformation w = % maps the disk |z —i| < 1 onto the lower

half-plane Im (w) < —1.

Show that the transformation w = 222 = —1 + 2 maps the disk |z — 1| < 1 onto
the right half-plane Re (w) > 0.

Show that the parabola 2z = 1 — 32 is mapped onto the cardioid p = 1 4 cos ¢ by
the reciprocal transformation.

Use the definition in Exercise 9 to prove that lim =t} =1.

zZ—00

Show that z = x + iy is mapped onto the point ( 2?4y > on

x Yy
22 4+y2 417 22 4y2 410 22 +y2+1
the Riemann sphere.

Explain how the quantities 400, —o0, and co differ. How are they similar?

© Jones & Bartlett Learning, LLC. NOT FOR SALE OR DISTRIBUTION.
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Find the image of a circle under w = f(2) =1/z

Asked 6 years, 11 months ago  Active 4 years, 2 months ago Viewed 9k times

In my introductory complex analysis class, we've gone over a fair number of examples using
the reciprocal function to map a line to a circle. However, we've worked only one example that

0 used a circle as its domain, and my professor left a good portion of the problem undone. To
top things off, my book focuses on, wouldn't you know, domains consisting of a line.

In this problem, the domain of f is Cy/5(—4/2) = {2 : |z +i/2| = 1/2}. Here's how I
1 attempted to sort through it all:

. 1
2+ (y+1/2)" = 5
U 2 7 v 2 1
——) (e -———) ==
u? 4 v? 2 w2402 4
1
w? + [(i/2)(u® + ) — o]’ = J W+ )
. 1 1
u? +v? — vi(u? + %) — Z(u2 +v?)? = Z(u2 + v?)?

(1 —vi)(u? + %) = %(u2 + v2)2
1—w= %(u2 + %)
2 =u?+v* + 2uvi
1=u®+ (v+1i)?
And so the image is itself a circle, centered at (0, —1), with radius 1.

https://math.stackexchange.com/questions/675899/find-the-image-of-a-circle-under-w-fz-1-z  1/4



2021/2/1
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Does this look okay? Have I been sloppy with any of the notation? I feel like I'm still figuring a
lot of this out, so please nitpick.

complex-analysis  solution-verification

Share Cite Improve this question Follow asked Feb 14 '14 at 3:23

T3 dmk
?H.g 1,r:87 12 20

3 Answers Active | Oldest | Votes

There are various ways to do this. As usual, the more theory you know, the less hard work you
have to do. Here are hints for a lo-tech method, followed by a hi-tech method.

First a comment. The method you are attempting is to write a complex variable as two real
variables. This being the case,

z® + ( + i) o1
Y73 T 1
cannot possibly be right, since it is supposed to be a real equation yet it includes 7. It should
be

vra) T
If you make this change and then do more or less what you already tried (but there is also
some careless algebra which you will have to fix) it should work.

For the "hi-tech/lo-algebra" method you will have to know the following theorem: the image of
a circle through the origin under the map w = 1/z is a line. So, take two points on your circle,
say

1
z=—3 and z=—— —17.
2

N |~

(Not z = 0 as then w = o0, or to put it in finite terms, w does not exist.) Find w for both of
these and then determine the line through the two w values. Good luck!

Share Cite Improve this answer edited Feb 14 '14 at 4:17 answered Feb 14 '14 at 3:44

Follow David
ey 743k 7 78 143

Thanks, David. I started over without the complex numbers and ended up with (1 — v)(u? + v?) = 0.
The latter of these factors can equal 0 only when u = v = 0, but that can't be, considering how z and y
are defined. Therefore, 1 — v = 0, which means v = 1. That leaves us with a horizontal line, i.e.,
{w:J(w) =1}.— dmk Feb 14'14 at 4:12

Also: I tried checking my answer using your hi-tech method, but I had one question: Did you mean

» — _a vrathoarthan » — _ 19 TTeinag —1 and tha athar valiia van naintad ant T fannd twn alamante nf mv

https://math.stackexchange.com/questions/675899/find-the-image-of-a-circle-under-w-fz-1-z  2/4
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set up above, but I want to make sure I'm doing everything correctly. — dmk Feb 14 '14 at 4:16

Yes, z = —1, I'll fix it. Thanks!! — David Feb 14 '14 at 4:16

If the domain consists of all points in the complex plane whose distance from —i/2 is 1/2,
then z = 0 is one such point: |0 — 7/2| = 1/2. In such a case, inversion through the unit

1 circle under the mapping w = f(z) = 1/z gives the point at infinity, so your algebra cannot
possibly be correct. The image is necessarily a line; moreover, it is a horizontal line that passes
through the intersection point(s) of the unit circle and the circle centered at —i/2 with radius
1/2.

Share Cite Improve this answer Follow answered Feb 14 '14 at 3:28
E’ heropup
91%k 12 75 134

I noticed the 1/0 thing the other day in class but had forgotten; thanks for reminding me. I had
assumed that meant, e.g., if we go out far enough on the line (i.e., the domain), we could get as close as
we want to 0 on the circle. Another point of confusion was that my professor had said w = 1/z "maps
lines to lines and circles to circles", which was pretty much negated by the first example, when a line got

mapped to a circle. I gradually deduced than either mapped to either. (Correctly? We saw an example
mapping a circle to a circle, but you write the image is "necessarily" a line.) — dmk Feb 14 '14 at 3:44

Beyond that, could you please comment on where I went awry in my algebra? Thanks for your feedback.
— dmk Feb 14 '14 at 3:45

On the Riemann sphere C U {o0}, a line is a circle. It is a circle with infinite radius. Your professor's
statement erroneously implies a distinction where there is none: it should simply read, "w = 1/z maps
circles to circles," where ‘circle’ also includes lines. — heropup Feb 14 '14 at 3:49 /'

Regarding where you calculations went awry, refer to David's reply: once you express the image of the
mapping in R?, there should be no more complex numbers in your expression: the circle should be
(z,y) such that 22 + (y + 1/2)? = 1/4. — heropup Feb 14 14 at 3:53

The typical domain point is

1 z=——+ =€
The image of this point is
1 B 2 B 2 cosf + i(1 — sin0)
_i g lgi0 —j4ei cosf—i(l—sinf) cosf+i(1— sinb)

2 2

This simplifies to

cos @ ;
1—sinf

Verify that the real part of this expression ranges between +oo as 6 moves through [0, 27].

So [ the image is the horizontal line through 7|

https://math.stackexchange.com/questions/675899/find-the-image-of-a-circle-under-w-fz-1-z  3/4
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Share Cite Improve this answer edited Feb 14 '14 at 4:37 answered Feb 14 '14 at 4:32

Follow MPW
38.1k 1 26 68

This looks a lot different from how we'd been doing these problems, so I admit, it took me a while to
have a close look at it. I'd forgotten that that's often the precise reason I do like an explanation. So
anyway, yeah, I like this; it makes a lot of sense. Thank you! — dmk Feb 24 '14 at 1:58 /'

https://math.stackexchange.com/questions/675899/find-the-image-of-a-circle-under-w-fz-1-z  4/4
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Upper level math Analysis question & answer

pythonGuru
Asked 2 yrs ago.

Show that under the transformation w = 1/z, the images of the linesy =x-1andy =0 are
the circle u®* + v2-u - v = 0 and the line v = 0, respectively. Sketch all four curves, determine
corresponding directions along them, and verify the conformality of the mapping at the point
z0=1.

5 vikiso 50 O®
! |
The equation f(z) = 2 can be written as
+1 !
U+ iv = -
x4y
i 1 wu—1v
T+ yi=
¥ U+t U — W
i U — v
T+ Y= ———=
V'=Z 1
4 i u W
T+ Y= — = —1
Ve 2t
Compare both sides
_ u - d — v
x_u2+v2’ an y_7u2+v2
Substitute the value of  and y in the equation y =z — 1.
.
'U,2 + ’U2 o U,2 + 'U2
v u—u?—0?
'U,2 —f—’b‘Q - UQ —l—v2
—v=u—u®—v?
wWHrP—u—v=0
The graph in the z-plane and the w-plane are shown below, respectively.
2

/https://www.slader.com/discussion/question/show-that-under-the-transformation-w-1z-the-images-of-the-lines-y-x-1-and-y-0-are-the-circle-u
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2l
2 0
a4
3
24 B I
0 2
4 . . .
Substitute the value of y in the equation y = 0.
U _—
u? +v2
v=>0
The graph in the z-plane and the w-plane are shown below, respectively.
5

/https://www.slader.com/discussion/question/show-that-under-the-transformation-w-1z-the-images-of-the-lines-y-x-1-and-y-0-are-the-circle-u  2/7
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]
v=1>0
-2 0 2
6
"= 1
0 2

7 . . . . . .

The point zyp = 1 is the point of intersection of the equation y = x — 1 and

y = 0 which is mapped to the point wg = 1, the point of intersection of the

equation u? +v?2 —u —v=0and v = 0. The angle from y =2 —1toy =0

at the point zp = 1 is %

y=20

8

/https://www.slader.com/discussion/question/show-that-under-the-transformation-w-1z-the-images-of-the-lines-y-x-1-and-y-0-are-the-circle-u  3/7



2021/2/14 ...nding directions along them, and verify the conformality of the mapping at the point z0 = 1. :: Homework Help and Answers :: Slader

The equation f(z) = 2 can be written as

U+ = 1:+yi
1 z—1
U+ = —ﬂ
THiyx— iy
L r =y
u+iv = Zry?
Substitute the value of y = 2 — 1 in the above equation.
o e iy — x—i(z—1)
T x2 4(x—1)2
. z , z—1
U+t =

:E2+(:c—1)2_z:c2-|-(a:—1)2

Compare both sides

T 224 (z—-1)2 Tz 4 (z—1)2
Now,
dv
dv_ds
du  du
dx

d z—1
dz {_w2+(w—1)2}
d T
da [w2+(rv—1)2]
222 +4x —1
(222 — 2z + 1)?
—2z2 +1
(222 — 2z +1)?
—22 +4zx -1
22241

At the point (11, 6) is

dv _ —2:04+4-0-1_

du ~ —2.0+1

So, the angle from u? +v?> —u — v =0 to v = 0 at the point wg =1 is

tanf =1
0 = tan 1(1)

m
o=L_
4

Hence, the angle is preserved from the z-plane to the w-plane at the point
20 = 1.

RESULT
dv
du

/https://www.slader.com/discussion/question/show-that-under-the-transformation-w-1z-the-images-of-the-lines-y-x-1-and-y-0-are-the-circle-u  4/7
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2
Enter your comment here X

Related questions:

Find the image of the region x > 1, y > 0 under the transformation w = 1/z.

2 answers

Find the image of the semi-infinite strip x > 0, 0 <y < 1 when w = i/z. Sketch the
strip and its image.

2 answers

Find the image of the semi-infinite strip x > 0, 0 < y < 1t under the transformation w
= exp z, and label corresponding portions of the boundaries.

2 answers

/https://www.slader.com/discussion/question/show-that-under-the-transformation-w-1z-the-images-of-the-lines-y-x-1-and-y-0-are-the-circle-u  5/7
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18.04 Practice problems exam 1, Spring 2018

Problem 1. Complex arithmetic
z+2

zZ —

(a) Find the real and imaginary part of

(b) Solve z* —i = 0.

(c) Find all possible values of 4/ \/; .

(d) Express cos(4x) in terms of cos(x) and sin(x).
(e) When does equality hold in the triangle inequality |z, + z,| < |z;| + |2,]?

(f) Draw a picture illustrating the polar coordinates of z and 1/z.

Problem 2. Functions
(a) Show that sinh(z) = —i sin(iz).

(b) Give the real and imaginary part of cos(z) in terms of x and y using regular and hyperbolic sin
and cos.

(¢) Is it true that |a®| = |a|®l?

Problem 3. Mappings

(a) Show that the function f(z) = i—: maps the upper half plane to the unit disk.
(i) Show it maps the real axis to the unit circle.

(i1) Show it maps i to 0.

(iii) Conclude that the upper half plane is mapped to the unit disk.

(b) Show that the function f(z) = i? maps the unit circle to the line x = —1/2.
Z —

Problem 4. Analytic functions

(a) Show that f(z) = e is analytic using the Cauchy Riemann equations.

(b) Show that f(z) = z is not analytic.

3

(c) Give aregion in the z-plane for which w = z” is a one-to-one map onto the entire w-plane.

(d) Choose a branch of z!/3 and a region of the z-plane where this branch is analytic. Do this so
that the image under z'/3 is contained in your region from part (c).
Problem 5. Line integrals

(a) Compute / x dz, where C is the unit square.
c

(b) Compute / ﬁ dz, where C is the unit circle.
C Z

(¢) Compute / z COS(ZZ) dz, where C is the unit circle.
c

(d) Draw the region C — {x +i sin(x) for x > 0}. Is this region simply connected? Could you define
a branch of log on this region?

2
(e) Compute /. ﬁ over the circle of radius 3 with center 0.

V4
(f) Does / 6—2 dz = 0?. Here C is a simple closed curve.
c 2

1
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[e0]

1
Compute dx
(g p /_oo 116

Problem 6.
Suppose f(z) is entire and | f(z)| > 1 for all z. Show that f is a constant.

Problem 7.
Suppose f(z) is analytic and | f| is constant on the disk |z — z,| < r. Show that f is constant on the
disk.

Extra problems from pset 4

Problem 8. (a) Let f(z) = e“°%® 22, Let A be the disk |z — 5| < 2. Show that f(z) attains both its
maximum and minimum modulus in A on the circle |z — 5| = 2.

Hint: Consider 1/f(z).

(b) Suppose f(z) is entire. Show that if f ®(z) is bounded in the whole plane then f(z) is a
polynomial of degree at most 4.

(¢) The function f(z) = 1/ z? goes to 0 as z — oo, but it is not constant. Does this contradict
Liouville’s theorem?

Problem”9.

Show / 5% cos(sin(@)) d0 = z. Hint, consider e?/z over the unit circle.
0

Problem 10.
(a) Suppose f(z) is analytic on a simply connected region A and y is a simple closed curve in A..
Fix zy in A, but not on y. Use the Cauchy integral formulas to show that

f (Z) / f(z)
y Z— Zo (z - 20)2

(b) Challenge: Redo part (a), but drop the assumption that A is simply connected.

Problem 11.
(a) Compute /

C V4
sin(z)

cos(z)

dz, where C is the unit circle.

(b) Compute / dz, where C is the unit circle.

C Z
2

dz, where C is the circle |z| = 2.

(¢) Compute /

C

z

(d) Compute ¢ a z, where C is the circle |z| = 1.
2
c Z

2 _
(e) Compute / 22 i dz, where C is the circle |z| = 2.
c z°-+

dz where C is the circle |z| = 2.

(f) Compute /

cz’+z+1
Problem 12.
Suppose f(z) is entire and lim & = 0. Show that f(z) is constant.

Z—00 Z
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You may use Morera’s theorem: if g(z) is analytic on A — {z,} and continuous on A, then f is
analytic on A.
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18.04 Practice problems exam 1, Spring 2018 Solutions

Problem 1. Complex arithmetic

(a) Find the real and imaginary part of zt ?
Z —_—
(b) Solve z* —i = 0.

(¢) Find all possible values of \/\7

(d) Express cos(4x) in terms of cos(x) and sin(x).

(e) When does equality hold in the triangle inequality |z, + z,| < |z;| + |2,]?
(f) Draw a picture illustrating the polar coordinates of z and 1/ z.

x4+24iy x—1—-iy x+Dx-1D+y* . =3y
Xx—l+iy x—1—iy  (-1D2+)2 (-1t
(b) i = e/ F/24217) Qo 7 = j1/4 = oi®/S+nn/2) — 4 ]ein/8 yjein/8,

Answers. (a)

(c) Same answer as part (b).
(d) Euler:

cos(4x) + isin(4x) = e = (cos(x) +i sin(x))4

= cos4(x) -6 cos2(x) sinz(x) + sin4(x) +i(4 cos3(x) sin(x) — 4 cos(x) sin3(x)).

Therefore, cos(4x) = cos*(x) — 6 cos?(x) sin?(x) + sin*(x).
(e) When z,; and z, have the same argument, i.e. are on the same ray from the origin.

®

Im(z)
2 =rieth
1
01
my T Re(z)
1/7”1
1 _ Le*iﬁ'l
Problem 2. Functions
(a) Show that sinh(z) = —i sin(iz).
i'iz _ a—iviz —Z _ aZ
Solution: —isin(iz) = —i& 2.6 =2 5 - sinh(z). QED
i

(b) Give the real and imaginary part of cos(z) in terms of x and y using regular and hyperbolic sin
and cos.
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Solution: We calculate this using exponentials.

eiz + e—iz e—y+ix + ey—ix

cos(z) = > = >
e Vel* 4+ eYe X
=
e Y(cos(x) + i sin(x)) + e¥(cos(x) — i sin(x))
- 2
= e te cos(x) + i e’ - sin(x)

2
= cos(x) cosh(y) — i sin(x) sinh(y)

Alternatively using the cosine addition formula:

cos(z) = cos(x + iy) = cos(x) cos(iy) — sin(x) sin(iy) = cos(x) cosh(y) — i sin(x) sinh(y).

(¢) Is it true that |a®| = |a|"1?

Solution: No: here’s a counterexample: |¢/| = 1, but [e|!l =e! =e.

Problem 3. Mappings

(a) Show that the function f(z) = i—: maps the upper half plane to the unit disk.
(i) Show it maps the real axis to the unit circle.

(ii) Show it maps i to 0.

(iii) Conclude that the upper half plane is mapped to the unit disk.

Solution: (1) If z is real then z — i = z + i, so numerator and denominator have the same norm, i.e.
the fraction has norm 1. QED
(ii) Clearly f(i) = 0.

(iii) The boundary of the half plane is mapped to the boundary of the disk and a point in the interior
of the half plane is mapped to the interior of the disk. This is enough to conclude that the image of
the half plane is inside the disk.

. . . .1
Since it’s easy to invert u = f(z): z = i 1 tu

onto the disk.

. It is easy to see that the map is in fact one-to-one and

(b) Show that the function f(z) = # maps the unit circle to the line x = —1/2.
z

Solution: We will learn good ways to manipulate expressions like this later in the course. Here we
can do a direct calculation. Let z = ¢/ = cos(#) + i sin(8) be a point on the unit circle. Then

_cos(0) +2+isin(0) cos(d) — 1 —isin(0)
" cos(@) — 1 +isin(@) cos(§) — 1 —isin(d)
_ (cos(0) +2)(cos(0) — 1) + sin2(0) +i()
- (cos(8) — 1) + sin?(0)
_ =1 +cos(8) +i(-+)
B 2 —2cos(0)

1. )

+ —_—
2 T T2 cos(6)

f(2)
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Here we left the imaginary part uncomputed because the question is to show that the real part is
—1/2. Which we did!

Problem 4. Analytic functions
(a) Show that f(z) = e* is analytic using the Cauchy Riemann equations.

Solution: e* = e* cos(y) + ie* sin(y). Call the real and imaginary parts u and v respectively. Putting
the partials in a matrix we have

u, u,\ _ [e*cos(y) —e*sin(y)
v, v,)  \e*sin(y) e*cos(y) )’

We see thatu, = v, and u,, = —v,.. Thus we have verified the Cauchy Riemann equations. So, f(z)

is analytic.

y

(b) Show that f(z) = z is not analytic.

Solution: f(z) = x — iy =u+ iv, where u = x and v = —y. Taking partials

u, u,\ _ (1 0
v, v,) \0 -1)°

We see thatu, # v),. So the Cauchy Riemann equations are not satisfied and so, f(z) is not analytic.

3

(¢) Give a region in the z-plane for which w = z° is a one-to-one map onto the entire w-plane.

Solution: Since z* triples arguments, we divide the plane into thirds and pick one third. We've
chosen the shaded region in the figure below.

Im(z)

\o27/3

Re(2)

The region includes the the positive x-axis but not the dashed line.

(d) Choose a branch of z'/? and a region of the z-plane where this branch is analytic. Do this so
that the image under z'/3 is contained in your region from part (c).

Solution: We choose the branch of arg with 0 < arg(z) < 2x. So, the plane has a branch cut along
the nonnegative real axis. Under w = z'/3 the image points all have 0 < arg(w) < 27 /3, as required
by the problem.
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Im(z)

> Re(z)

Problem 5. Line integrals

(@) Compute | xdz, where C is the unit square.
c
Solution: First note that as a function x means Re(z). We do the integral for each of the four sides

separately.

Im(2)

N

i

Y4Y A2

re R
71 1 o(z)

1
yii i@ =t with0 <t <1. So,/xdz=/ tdt=1/2.
71 0
1
Vi o) =1+it,with0 <t < 1. So,/xdzz/ lidt =i.
72 0
1
3 y3(t)=1—t+i,with0§t§1.So,/xdz=/ (1 =18 (=dt)=-1/2.
7 0

1
va: v3(0) =1 —1)i,with0 <t < 1. So, / xdz = / 0(—=dt)=0.
Y4 0
Addding the together: the integral over the square is i.

(b) Compute / ﬁ dz, where C is the unit circle.
c |z

Solution: Parametrize the circle, as usual, by y(0) = e®. Since |y(#)| = 1 the integral is

1 2 )
/ﬁdz=/ i do = 0.
c |z 0

(c) Compute / z cos(zz) dz, where C is the unit circle.
c

Solution: Since zcos(z?) is entire, it is analytic on and inside the closed curve C. Therefore by
Cauchy’s theorem, the integral is 0.

(d) Draw the region C — {x + i sin(x) for x > 0}. Is this region simply connected? Could you define
a branch of log on this region?
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Solution: Yes, the region is simply connected. Yes, you can define a branch of log on this region: To
define a branch of log you have to have a region where the argument is well defined and continuous.
You can do this as long as the cut blocks any path that circles the origin. The figure below illustrates
values of arg(z) at a few points in the region.

Im(z) arg ~ / arg ~ 0.16
. °
7 ‘. ‘s ‘.
4 s 4
DY Y DY
!’ ' ! ' ! '
! ‘e S [ N 1y R. ( )
.\‘ 197 \‘ 7 \‘ ez
)
\ ’ \ !’ K
ve,’ . ! L
.\ ~? -’
arg ~ —0.21
arg /2 27 &

(e) Compute fc % over the circle of radius 3 with center 0.

Solution: The fourth roots of 1 are +1, +i. Thus,

2 22

-1 @E=-Dz+Dz-Dz+i)

f=7

Since the curve contains all four roots we need to write it as four loops each containing just one of
the roots. Then we use Cauchy’s formula to compute the integral over each loop.

ZZ

(z+D(z=i)(z+1)

Loop around 1: Let g(z) = . The integral of f over this loop equals 2zig(1) =

zi/2.

Loop around -1: The integral of f over this loop is —zi /2.
Loop around i: The integral of f over this loop is 7 /2.
Loop around -i: The integral of f over this loop is —z /2.

Summing all 4 contributions we get 0.

Z
(f) Does e—2 dz = 07. Here C is a simple closed curve.
c Z

Solution: Not always. We know f(z) = e* is entire. So, if C goes around O then, by Cauchy’s
formula for derivatives
f(2) d
2

z =27xif'(0) = 27i.
If C does not go around O then the integral is 0.

Compute
(2 p /_ T
Solution: Let f(z) = 1/(z* + 16) and let I be the integral we want to compute. The trick is to

integrate f over the closed contour C; + Cg shown, and then show that the contribution of Cy to
this integral vanishes as R goes to co.

[o0]
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-R C R

The 4 singularities of f(z) are 2e/*/4+17/2) = +1/2 + /2. The ones inside the contour are 2¢/*/4 =

\/E+ i\/z, 2e3i7/4 = —\/§+ i\/i. As usual we break C; + Cj into two loops, one surrounding each
singularity and use Cauchy’s formula to compute the integral over each loop separately. Factoring,
we have

1 1

I (24D (V2 VDG - (V2 IV - (V2 - VD)

Loop around \/5 +i \/5: Let f1(z) =

1 .
. By Cauchy’s integral
(2D A VDY NV Y :

V2z(1 - i)

formula the integral is 27rif1(\/5 + i\/z) = D

Loop around —1 + i: the integral is

V2r(l +i)
2

Summing, the integral around C; + Cp is \/57r/16.
Now we’ll look at C; and C, separately:
Parametrize C by y(x) = x, with —R < x < R. So

R
z)dz = —dx.
le( ) /—R x4+ 16

This goes to the I as R — oo.
We parametrize C by y(0) = Re?, with0 < 0 < 7. So

T
1 .1 if
z)dz = ————— iRe"” df
Cr s /0 R4e49 + 16 /
By the triangle inequality, if R > 1

f(z)dz

S/ R 46 = 7R
o R*-16 R4 —16

Clearly this goes to 0 as R goes to infinity.

Cr

Thus, the integral over the contour C; 4+ Cg goes to I as R gets large. But this integral always has
the same value /27 /16. We have shown that I = \/57[ /16.

As a sanity check, we note that our answer is real and positive as it needs to be.
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Problem 6.
Suppose f(z) is entire and | f(z)| > 1 for all z. Show that f is a constant.

Answer. Since |f(z)| > 1 we know f is never 0. Therefore 1/f(z) is entire and |1/ f(z)| < 1.
Being entire and bounded it is constant by Liouville’s theorem.

Problem 7.
Suppose f(z) is analytic and | f | is constant on the disk |z — zy| < r. Show that f is constant on the
disk.

Answer. This follows from the maximum modulus principle. Since | f] is constant on the disk, its
maximum modulus does not occur only on the boundary. Therefore it must be constant.

Extra problems from pset 4

Problem 8. (a) Let f(z) = e 22, Let A be the disk |z — 5| < 2. Show that f(z) attains both its
maximum and minimum modulus in A on the circle |z — 5| = 2.

Hint: Consider 1/ f(z).

Solution: Since f(z) is analytic on and inside the disk, the maximum modulus principle tells us it
attains its maximum modulus on the boundary.

Since e is never 0 and z? is not zero anywhere in A we know that 1/ f(z) is analytic on and inside
the disk. Therefore it attains its maximum modulus on the boundary. But the point where 1/|f(z)|
is maximized is the point where | f(z)| is minimized.

(b) Suppose f(z) is entire. Show that if f @(z) is bounded in the whole plane then f(z) is a polyno-
mial of degree at most 4.

Solution: By the maximum modulus principle f*(z) is a constant. Integrating a constant 4 times
leads to a polynomial of degree a most 4.

(¢) The function f(z) = 1/ 72 goes to 0 as z — oo, but it is not constant. Does this contradict
Liouville’s theorem?

Solution: No, Liouville’s theorem requires the function be entire. f(z) has a singularity at the origin,
S0 it is not entire.

Problemﬁ9.

Show / e cos(sin()) d0 = x. Hint, consider ez over the unit circle.
0

Solution: (Follow the hint.) Parametrize the unit circle as y(0) = ¢, with 0 < 6 < 2x. So,

e? 2z ec059+i sin 6 0 2r Otisi
—dz= —,01'6’ do =i gcosetisin g9
y 2 0 el 0

2r 2r
=i / e 9(cos(sin 0) + i sin(sin 0)) d§ = / e 9(j cos(sin 0) — sin(sin 0)) 6.
0 0

This is close to what we want. Let’s use Cauchy’s integral formula to evaluate it and then extract the
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value we need. By Cauchy the integral is 2zie® = 27i. So,
2r
/ e°39 (i cos(sin 0) — sin(sin 0)) dO = 2xi.
0
Taking the imaginary part we have
2r
/ e°89 cos(sin0) dO = 2.
0

This integral is 2z, while our integral is supposed to be z. But, by symmetry ours is half the above.
(It might be easier to see this if you use the limits [z, z] instead of [0, 2x].)

So, we have shown that the integral is 7.

Problem 10.
(a) Suppose f(z) is analytic on a simply connected region A and y is a simple closed curve in A..
Fix zy in A, but not on y. Use the Cauchy integral formulas to show that

f@ [ @

, Z— 20 y (2= z¢)?

Since A is simply connected we know f and f’ are analytic on and inside y. Therefore we can use
Cauchy’s formulas.

!/
/(@) dz =2zif'(zy) (by Cauchy’s integral formula.)
y z — ZO
f(z) gt , -
ﬁ dz. =27if'(zq) (by Cauchy’s formula for derivatives.)
r (2= 29

These are the same, so we are done.

(b) Challenge: Redo part (a), but drop the assumption that A is simply connected.
!/
flo 1@

z—zy (z—2zg)%

f'@ [ f@ /g’(z)dz=0.
Y

y 2= 2 v (2= 2z)?

Let g(z) = % g is analytic on a neighborhood of y. Note: g’(z) =

It equals 0 because the integral of a derivative around a closed curve is 0. So, the two integrals on
the left side are equal.

Problem 11.

(a) Compute cos(2)

dz, where C is the unit circle.

C Z
Solution: 2ricos(0) = 2ri.

(b) Compute /

C

sin(z)

dz, where C is the unit circle.
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Solution: 2ri sin(0) = 0.

2
(c) Compute / dz, where C is the circle |z| = 2.
czZ—
Solution: 2xiz?|,_, = 2xi.

Z
(d) Compute / e_2 dz, where C is the circle |z| = 1.
Cc Z

. . de* .
Solution: 2xi — = 27ri.
dz z=0

2
(e) Compute / Z -1
C z2+1

Solution: Singularities are at +i.

dz, where C is the circle |z| = 2.

-2 —2
Integral =27xi— +27xi— = 0.
ntegra Tl 2 + 7r1_2i

) Compute / _ dz where C is the circle |z| = 2.
cz’+z+1

Solution: There are two roots. Splitting the contour as we’ve done several times leads to a total
integral of 0.

Problem 12.
Suppose f(z) is entire and lim & = 0. Show that f(z) is constant.

zZ—00  Z
You may use Morera’s theorem: if g(z) is analytic on A — {zq} and continuous on A, then f is
analytic on A.

f(2) - f(0)

z
analytic on all of C, by Morera’s theorem

Solution: Let g(z) = . Since g(z) is analytic on C — {0} and continuous on C it is

We claim g(z) = 0.

Suppose not, then we can pick a point z; with g(z,) # 0. Since g(z) goes to 0 as |z| gets large we can
pick R large enough that |g(z)| < |g(z()| for all |z| = R. But this violates the maximum modulus
theorem, which says that the maximum modulus of g(z) on the disk |z| < R occurs on the circle
|z| = R. This disaster means our assumption that g(z) # 0 was wrong. We conclude g(z) = 0 as
claimed.

This means that f(z) = f(z,) for all z, i.e. f(z) is constant.
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Problem 1. Harmonic functions
(a) Show u(x,y) = x> — 3xy? + 3x? — 3y? is harmonic and find a harmonic conjugate.

(b) Find all harmonic functions u on the unit disk such that u(1/2) = 2 and u(z) > 2 for all z in the
disk.

(c) The temperature of the boundary of the unit disk is maintained at T = 1 in the first quadrant,
T = 2 in the second quadrant, T = 3 in the third quadrant and T' = 4 in the fourth quadrant. What
is the temperature at the center of the disk

(d) Show that if u and v are conjugate harmonic functions then uv is harmonic.
(e) Show that if u is harmonic then u, is harmonic.
(f) Show that if u is harmonic and #? is harmonic the u is constant.

(We always assume harmonic functions are real valued.)

Problem 2. |
Let f(Z) = m

z = 0 where f is analytic.

Find Laurent series for f on each of the 3 annular regions centered at

Problem 3.
Find the first few terms of the Laurent series around O for the following.

(@) f(z) = z%cos(1/3z) for 0 < |z].

(b) f(z)= P for 0 < |z|] < R. What is R?
e —
Problem 4.
. < <z
What is the annulus of convergence for 2 —_—,
S 2lnl

Problem 5.
Find and classify the isolated singularities of each of the following. Compute the residue at each
such singularity.

_ 23+
@ 1) =5
_ 1
() fo(2) = ——
(© f3(z) = cos(l — 1/2)
Problem 6.

(a) Find a function f that has a pole of order 2 at z = 1 + i and essential singularies at z = 0 and
z=1.
(b) Find a function f that has a removable singularity at z = 0, a pole of order 6 at z = 1 and an

essential singularity at z = i.

Problem 7.
True or false. If true give an argument. If false give a counterexample
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(a) If f and g have a pole at z,, then f + g has a pole at z,.

(b) If f and g have a pole at z; and both have nonzero residues the f g has a pole at z, with a nonzero
residue.

(¢) If f has an essential singularity at z = 0 and g has a pole of finite order at z = O the f + g has
an essential singularity at z = 0.

(d) If f(z) has a pole of order m at z = 0 then f(z?) has a pole of order 2m

Problem 8.
Find the Laurent series for each of the following.

(@) 1/e1=?for 1 < |z|.

Problem 9.

Let h(z) = 1 2z

- — — 4+ ——— inthe disk |z| < 2.
sin(z) z z2-—x2 2]

(a) Show that all the apparent singularities are removable.

(b) Find the first 4 terms of the Taylor series around z = 0.

Problem 10.
Find the residue at oo of each of the following.
@) f(z) =e*
z—1
b = .
(b) f(z) P
Problem 11.

Use the following steps to sketch the stream lines for the flow with complex potential ®(z) = z +
log(z — i) + log(z + i)

(i) Identify the components, i.e. sources, sinks, etc of the flow.
(i1) Find the stagnation points.

(iii) Sketch the flow near each of the sources.

(iv) Sketch the flow far from the sources.

(v) Tie the picture together.

Problem 12.
Compute the following definite integrals

(a) / [ ) (Solution: \/2)

x 1 +sin’(9)
(o] X | |
(b) /_oo mdx. (Solution: —r /27)

(c) p.v./oo X sin(x) dx

o 1+ x2
(d) p.V./ cos(x.) dx.
e X
oo 2ix
xe
(e) I=p.V./_00 2_1dx
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18.04 Practice problems exam 2, Spring 2018 Solutions

Problem 1. Harmonic functions
(@) Show u(x, y) = x> = 3xy* + 3x% — 3y? is harmonic and find a harmonic conjugate.

It’s easy to compute:

u, = 3x> — 3y + 6x, u, =6x+6
u, = —6bxy — 6y, u,, = —6x -6

It’s clear that VZu = u__ + uy, = 0, so u is harmonic.

If v is a conjugate harmonic function to u, then u + iv is analytic and the Cauchy-Riemann equations
tell us that v, = —u,, and v, = u,. Therefore, we can integrate u, and u, to find v.

vy = —u, = 6xy+ 6y = v=3x%y+ 6xy+g(y)
Uy=ux=3x2—3y2+6x = v=23xy— )y +6xy+ h(x)

Comparing the two expressions for v we see that g(y) = —y*+C and h(x) = C. So|v = 3x’y — y> + 6xy + C |.

(b) Find all harmonic functions u on the unit disk such that u(1/2) = 2 and u(z) > 2 for all z in the
disk.

Solution: The only possibility is the constant function u(z) = 2. The maximum principle for har-
monic functions says that if u takes a relative maximum or minimum at an interior point then it is
constant. (This is a consequence of the mean value theorem.)

(¢) The temperature of the boundary of the unit disk is maintained at T = 1 in the first quadrant,
T =2 in the second quadrant, T = 3 in the third quadrant and T = 4 in the fourth quadrant. What
is the temperature at the center of the disk

Solution: The mean value theorem says that f(0) is the average over any circle centered at 0. This
is clearly the average of the (constant) values in each quadrant. So f(0) = 2.5.

(d) Show that if u and v are conjugate harmonic functions then uv is harmonic.

Solution: Easy method. We know f = u + iv is analytic. Therefore f 2 = u? — y? + 2iuv is also
analytic. So, Im(f?) = 2uv is harmonic. QED

Calculation method.

V) = U U+ 2u, 0, +uv,,

(uv),, = u,,v+ Zuyvy +uv,,

We know u, v are harmonic and satisfy the Cauchy-Riemann equations u, = v So

adding the above equations we get

o Uy = —Uy.

(V) yx + WV) ), = (Uyy +uy v + 2(—uuy, + uyu,) + u(v,, +v,,) =0.

We have shown that uv is harmonic.

(e) Show that if u is harmonic then u, is harmonic.
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Solution: Easy method. For some conjugate v, f = u + iv is harmonic. Since f’ = u, + iv,, we
know Re(f’) = u, is harmonic.

Direct calculation (u,),, + (u,),, = (uy, +u,,), =0.
() Show that if u is harmonic and u? is harmonic the u is constant.
(We always assume harmonic functions are real valued.)

Solution: We calculate this directly.
W)y = 20 )* + 2ug, WD)y, = 2(uy)* + 2uuy,.
Assume that u and u? are harmonic, then
0= (U + WD), = 2(u)* + W) + 2uug, + 1) = 2((U)* + (1)),

As a sum of squares, (ux)2 + (uy)2 = 0 implies u, = u, = 0. This implies u is constant. QED.

Problem 2.
Let f(z) = m

z = 0 where f is analytic.

Find Laurent series for [ on each of the 3 annular regions centered at

Solution: The poles are at z = 1 and z = 3. This divides the plane into 3 annular regions, with f
analytic on each region:

ALzl <1, A, 1 1<|z| <3, Ay L 3<|z|.

Im(z)

Using partial fractions we get f(z) = —% e % . ﬁ We write each of these terms as geometric

series in each region.

1 = - 1 =—(1+z+2°+..) (converges for |z] < 1)
z—1 11—z
1 1 1 1 1
i -1z = (1 + o + 2 + ) (converges for |z]| > 1)
L _ 4G+ @3+ (converges for |z] < 3)

z—-3  3(1-2z/3)

1 1 1 3,3
p— = Z1-3/z = Z (1 + p + 2 + > (converges for |z| > 3)
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On each region we can add the appropriate form of these series.

OnA,: |z|<1:

(1+z+22+...) -

=
W | =

f&)=3

(14+2/3+G/37+.) =5 Y (1- n1+l>z”.
n=0 3
OnA,: 1<|z|<3:

f(z)=—%~%(1+l+l+...)—

=

On A; @ |z]| > 3:

11 11 1 3.3 1w (143"
. (14242 ) LY (A I Y e
f@)=-3 z<+z+z2+ +2<+ += 4+ > 2; g

Problem 3.
Find the first few terms of the Laurent series around 0 for the following.

(@) f(z) = z2cos(1/3z) for 0 < |z|.
Solution: Using the known series for cos(z) we get

1 1 L 1
—72(1- - =z - B
fz) =z (1 TR TR ) ST TRE T R,

b) f() = ——

Solution: Writing out e* as a power series we have

Jor0 < |z| < R. What is R?

/)= 1 == :
z+z2/2'+23/3!+ ...z 1+4+z/2!+2z2/3!+ ...

For z near 0 the expression z/2! 4+ z%/3! + ... is small so we can use the geometric series:

f()==(1=(z/204 22 /31+ )+ (z/2 + 22 /31 + .2 = (/21 + 2231+ . +...)

N =

It is hard to get a general expression for the terms of this series, but we can compute the first few
explicitly.

2
f(z) = é (1 —§+z2(—1/3!+ 1/4) + 22(=1/4! +2/(2131) — 1/8)) - % (1 —§+lz—2 —0-2 ...

Problem 4.

[ee]

What is the annulus of convergence for Z

n=—00

Zn

20’
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Solution: We find region for singular and regular parts seperately.

o0

Singular part: Z Sngn” Either by recognizing this as a geometric series or using the ratio test we
z
n=1

see it converges if |z| > 1/2.
o0 Zn
Regular part: Z TR Either by recognizing this as a geometric series or using the ratio test we see

n=0
it converges if |z| < 2.

The annulus of convergence is | 1/2 < |z] < 2|

Problem 5.
Find and classify the isolated singularities of each of the following. Compute the residue at each
such singularity.

241
a zZ) = ———
@ /i(2)= S
Solution: f, has a pole of order 2 at z = 0 and a apparently a simple pole at z = —1. (In fact we will
see that z = —1 is a removable singularity.)

Res(f,0): Let g(z) = 22 f 1(2) = zj:ll . Clearly we want the coefficient of z in the Taylor series for

g. That is | Res(f;,0) = g’(0) = —1|. (Alternatively we could have written 1/(z + 1) as a geometric
series and found the coefficient of z from that.)

Res(f1,—1): Let g(z) = (z+ 1) f1(2) = 23“. Res(f;,—1) = g(—1) = 0. So the singularity is

z2
removable. In retrospect we could have seen this because zt1 = (z + 1)(z> — z + 1).

1
b =
(b) fo(2) = ——
Solution: f, has poles whenever e* — 1 = 0, i.e. when z = 2nsi for any integer n. We’ll show the
poles are simple and compute their residues all at once by computing lién (z = 2nmi) f,(2).
Z—LZnrmi

. . . . z—2nri 1
Res(f,2nzi) = zll%lm(z —2nzi)f(2) = Zl}g}m ez 1 omi 1

(The limit was computed using L’Hospital’s rule.) Since the limit exists the pole is simple and the
limit is the residue.

(¢) f3(z) = cos(l —1/z)
Solution: f5 has exactly one singularity, which is at z = 0. We’ll find the residue by computing the
first few terms of the Laurent expansion.

ei(l—l/z) +e—i(1—1/z) eie—i/z +e—iei/z
2 B 2

cos(l —1/z) =

Using the power series for e we have

z 272
elel/? = (1 +L- €L + )
z 272
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Looking at just the 1/z terms we have

Res(f3,0) = % — sin(1).

Alternatively we could have used the trig identity cos(1 — 1/z) = cos(1) cos(1/z) + sin(1) sin(1/z).

Problem 6.
(a) Find a function f that has a pole of order 2 at z = 1 + i and essential singularies at z = 0 and
z=1

Solution: It’s easiest to write this as a sum.

1

— 1/z+ 1/(z—1)+ .
JE)=etite (z—1-ip

The term e'/Z has an essential singularty at z = 0. Since the other two terms are analytic at z = 1,
f has an essential singurity at z = 0.

The singularities at 1 and 1 + i can be analyzed in the same manner.

(b) Find a function f that has a removable singularity at z = 0, a pole of order 6 at z = 1 and an
essential singularity at z = i.

Solution: We’ll do this in the same way as part (a).

_2+8z 1 o1/(z=)
sin(z)  (z—1)6 '

f(@

Problem 7.
True or false. If true give an argument. If false give a counterexample

(a) If f and g have a pole at z( then f + g has a pole at z,.

(b) If f and g have a pole at z, and both have nonzero residues the fg has a pole at z, with a
nonzero residue.

(¢) If f has an essential singularity at z = 0 and g has a pole of finite order at z = 0 the f + g has
an essential singularity at z = Q.

(d) If £(2) has a pole of order m at z = 0 then f(z) has a pole of order 2m
Answers.(a) False. Counterexample: f(z) = 1/z, g(z) = —1/z.
(b) False. Counterexample: f(z) =1/z, g(z) =1/z.

(c) True. When you add Laurent series you simply add the coefficients. The singular part of the
series for f has infinitely many nonzero coefficients. After a certain point, the singular part of g has
all zero coefficients. So after that point, the singular part of f + g has the same coefficients as f.
That is, it has infinitely many nonzero coefficients, so the singularity is essential.

(d) True. We know f(z) = z "g(z), where g(0) # 0. So, f(z)> = z72"g(z?), where g(0%) # 0.
This shows, f(z2) has a 0 of order 2m.
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Problem 8.
Find the Laurent series for each of the following.
(@) 1/e"=? for 1 < |z|.

Solution: f(z) = 1/e17? = e*~! is analytic on the entire plane. So,
2 3
—a—laz _ -1 z z”
f(z)=e""e*=¢e <1+z+ X + 3 +>

is the Taylor series for all z. Hence it is the Laurent series on |z| > 1.

Problem 9.

Let h(z) = L 2z

- — — 4+ ——— inthedisk |z| < 2x.
sin(z) z z2-—nx2 12l

(a) Show that all the apparent singularities are removable.
(b) Find the first 4 terms of the Taylor series around z = 0.

Answers.(a) The apparent singularities of 4 are at 0, +x. There might be a slicker way to do this
part, but here’s one that’s not too painful.

o _z—sin(z) 2z
Atz =0: h(z) = Z5in) -

singularity at 0. Writing out the first term in terms of Taylor series we have
z —sin(z) 2331 -23/5!+ ...
zsin(z)  z2—z4/31+ ...

The second term is analytic, so doesn’t contribute to the

The numerator has a zero of order 3 and the denominator one of order 2, so the entire term has a O
of order 1, i.e. the singularity is removable.

We can play the same game at z = . To make things easier we use partial fractions
1 1+ 1 4 1 _(z—ﬂ)+sin(z)_1+ 1

h(z) =

Tsin(z) z z—xn  z+x  (z-msin(z) z  z4x

The second and third terms are analytic at z = =, so don’t contribute to the singularity. The first
term can be written as

(z—m)+sin(z) (z—m)+ (—(Z—ﬂ)+(z—7r)3/3! —(z—ﬂ)5/5! + ) 3 (z — 1)} /3!

(z—m)sin(z) (z-m)(-z-m)+z-n)3/31—(z—-n)3/5!+...) ==+ (z-n)2/2+..

As before, the numerator has a zero of order 3 and the denominator one of order 2, so the singularity
is removable.

The singularity at z = — is handled identically to z = z.

(b) For this part let’s work on each term in the original expression of A.
1 1
sin(z)  z1—(z2/3!'=2z%/5!'+..))

= (14 /3= /504 )+ E 3= 25 P )

= L 2304 15041760 + )

z
l 1+Z_2+E+
z 6 360

)
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2z 2z 2z 2, .2 45 4
= — =—=—0+z/x"+z" /7" + ...
z2 — 72 72(1 — z2/72) 7r2( / / )

Combining all the parts we get

—0+z<l—£>+z3<L—£>+
6 2 360 gt

Problem 10.
Find the residue at co of each of the following.

@) f(z) =e*

_z—1
(b) /(z) = -

Answers.(a) Easy method: f(z) is entire so f(z)dz = 0 for all closed C. Since the residue

c
at infinity is minus the integral over a closed curve containing all the singularities we must have
Res(f, o) = 0.

Method 2. Let g(w) = #el/ “w_ The Laurent series for g is

g(w)=#<l+$+...).

So Res(f, o) = —Res(g,0) = 0.

1/w-1
(b) Since Let g(w) = Lf(/l/w) = L/w— Writing 1/(w + 1) as a geometric series we get
w? w? 1/w+1
1 9 3 1 2 1 2
gwy=—IO-wl-w+w -w+..)=—0-2w+2w -..)=——-——+2— ...
w? w? w?  w

Therefore Res(f, o) = — Res(g,0) = 2.

Problem 11.
Use the following steps to sketch the stream lines for the flow with complex potential ®(z) = z +
log(z — i) + log(z + i)

(i) Identify the components, i.e. sources, sinks, etc of the flow.
(ii) Find the stagnation points.

(iii) Sketch the flow near each of the sources.

(iv) Sketch the flow far from the sources.

(v) Tie the picture together.

Solution: (i) The log terms with positive coefficients represent sources. The term z represents a
steady stream. So this is two sources in a steady stream.
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(ii) Stagnation poihts are places where ®’(z) = 0. Computing:

2z (z+ 1)

D(z)=1+ = )
@) 2241 2241

So there is a single stagnation point at z = —1.

(iii-v) Near the sources the flow looks like a source. Far away it looks like uniform flow to the right.
By symmetry (or direct calculation) there are streamlines on the x-axis. We get the following picture.
(I used Octave to draw draw the underlying vector field.)

[

k- -
.l TR

L 3

b

Problem 12.
Compute the following definite integrals
v
@ | ———— do. (Solution: 7\/2)
-z 1+ sin“(0)
z—1/z B 7221

Solution: On the unit circle z = e/, sin(9) = 7 51
i

. So the integral becomes

/ 1 E:/ -4z dz
Iz|=1 1+ ((22 - 1)/2iZ)2 iz Iz|=1 i(Z4 — 622+ 1)

Let f(z) = - —4z

—————— So the integral is
i(z4—6z2+1) g

f(z)dz =2ni Z residues of f inside the unit disk.
|z|=1

The poles of f are at z> = 3 + \/§ Of these, only z% = 3 — \/g is inside the unit circle. So there

are two poles inside the unit circle at z; = /3 — \/g and z, = —\/3 — \/g These are simple poles
and we can compute the residue using L’Hospital’s rule.

. (z=z)(-4z2) -4z, -1 1
Res(f,z;) = lim - = = = .
2=z j(z4 — 622 + 1) i(4z? -12z)) i(z? -3) /8
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The residue at z, has the same value. So,

F(2)dz = 27i(Res(f, 2,) + Res(f, 2,)) = 2% = z1/2.

=

|z|=1

(o] X | |

Solution: Call the integral in question I. Let f(z) = z/(z> +4z+13)%. This decays faster than 1/z>
so we can use path

Im(z)

Cr

Re(z)

We know Igim f(z)dz =0, so, letting R go to infinity in / f(z)dz we get
TR JCy Ci+Cr

c
I =2ri Z residues of f in the upper half-plane.

The poles of f are at —2 + 3i. Only z; = —2 + 3i is in the upper half-plane. All we have to do is

compute the residue. Let g(z) = (z — 21)2 f(z)= m Since g is analytic at z; we have

Res(f,z,) = g'(z;) = some algebra = i/54.

Sol ==—-x/27.
(©) p.v. /00 X sin(x) dx.
oo 1+ x2
Solution: Call the integral in question I. Replace sin(x) by e’ and let
- © xel -
I=p.v.'/_oo 1_'_xzdx, so, I =Im([1)

iz

Let f(z) = 2% and use the contour C, +Cy.
1+ 22

Im(z)

2Ri  Cr

Cy
> Re(z)
-R R

The only pole of f in the upper half-plane is at z = i. It is easy to compute Res(f,i) = ie™!2i =
e™'/2. So,

/ f(z)dz = 2ziRes(f,i) = wie™\.
C+Cq
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Since |z/(1 + z%)| < M /|z| for Large z and the coefficient of ix in the exponent of f is positive, we
know
I%im f(z)dz=0.

Also, limpg_, o [ f(z)dz=pv. [Z fx)dx = 1.

In conclusion we have

So I =Im(]) =

) p.v. /°° COS(X_) dx.

[ =2xiRes(f,i) = mie™\.

o X+
Solution: Writ ()—MS Let ()_i d ()_ﬁ
olution: Write cos(x) = 5 . So, Let fi(z = an fa(z =
© cos(x <1 <1
p.v./ ( .) dx =p.v./ —fl(x)dx+p.v./ = fr(x)dx.
—eo Xt o0 2 oo 2
We compute these integrals using two different contours
Im(z) Im(z)
2Ry ACkr,
gl —Rs . Ry
R > T Re(z) - Re(2)
—i
—2Ryi \’7CR2
The reasoning is the same as in part (b). Both f| and f, have a single pole at z — i. So, using the

contour Cy + Cp we find

p.v./ %fl (x)dx =2xiRes %fl in the upper half plane. = 0.
—0

Likewise, using the contour C; — Cg, we find

p.v./ %fz(x) dx = 2riRes %fz in the lower half plane. = —2zi Res(f,/2, —i) = —mie™l.

(The minus sign is because C; — Cp is oriented in the clockwise direction.)

Answer to problem: the integral is —zie™!.

S 2ix
(eI =p.v./ X ax.

o X2 —1

2iz

Solution: Since our integrand f(z) = 1 has poles on the real axis we will need to use an

indented contour.
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Im(z)
2Ri Lo
-5 —C4
¢ ™ G s
> > > Re(z)
—R —1-ry —14r; 1-ro  147rs R

As usual, we chose the contour so that the integral over C goes to 0 as R goes to infinity. Since f
has no poles inside the contour we have

/ f(z)dz =0.
C,—Cy+C3—Cy+Cs+Cp

The poles of f at +1 are simple. So, letting R — oo and r|,r, = 0 we get
I = mi(Res(f,—1) + Res(f, 1)).
The residues are straightforward to compute.

Res(f,—1) =e"%/2, Res(f, 1) =¢e% /2.

So, I = zi(e¥ +e72)/2 =|zicos(2)|
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18.04 Practice problems for final exam, Spring 2018
On the final exam you will be given a copy of the Laplace table posted with these problems.

Problem 1.
Which of the following are meromporphic in the whole plane.

(a) z°

(b) 25/

(C) el/z

(d) 1/ sin(z).

Problem 2.

—_7\2,3 !
(@) Let f(z) = (z-2)z /(2

GG+ Da—Di o T

(b) Find the number of roots of g(z) = 6z* + z3 — 2z%> + z — 1 = 0 in the unit disk.

dz

(¢) Suppose f(z) is analytic on and inside the unit circle. Suppose also that | f(z)| < 1 for |z]| = 1.
Show that f(z) has exactly one fixed point f(z,) = z, inside the unit circle.

(d) True or false: Suppose f(z) is analytic on and inside a simple closed curve y. If f has n zeros
inside y then f’(z) has n — 1 zeros inside y.

Problem 3.

Let A = {z| 0 <Re(z) < z/2, Im(z) > 0.

Let B = the first quadrant/

Show that f(z) = sin(z) maps A conformally onto B
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18.04 Practice problems for final exam, Spring 2018 Solutions
On the final exam you will be given a copy of the Laplace table posted with these problems.

Problem 1.
Which of the following are meromporphic in the whole plane.

(a) 2

(b) 25/

(c) e!/=

(d) 1/ sin(z).

answers: Meromorphic means analytic except for poles of finite order.

(a) Yes, this is entire.

(b) No, this requires a branch cut in the plane to define a region where it’s analytic.
(¢) No, the singularity at z = 0 is an essential singularity, not a finite pole.

(d) Yes, sin(z) has simple zeros at nz for all integers n. So 1/ sin(z) has simple poles at these points.

Problem 2. 2 3
_ (z—-2)z /'(2)
WO = e -1 M 7o

(b) Find the number of roots of g(z) = 6z* + z3 — 22> + z — 1 = 0 in the unit disk.

(¢) Suppose f(z) is analytic on and inside the unit circle. Suppose also that | f(z)| < 1 for |z| = 1.
Show that f(z) has exactly one fixed point f(z,) = z, inside the unit circle.

(d) True or false: Suppose f(z) is analytic on and inside a simple closed curve y. If f has n zeros

inside y then f'(z) has n — 1 zeros inside y.

answers: (a) By the argument principle the / —dz =2ri(Z;, — Py, Inthis case, the zeros of

f inside y are 2, O of order 2 and 3 respectlvely The poles inside y are —1 and 1 of order 3 and 4
respectively. So, the integral equals

27i(2+3 -3 —4) = —4xi.

(b) On the unit circle |z3 —2z? + z — 1| < 5 and |6z%| = 6. Therefore by Rouche’s theorem the
number of zeros of g(z) inside the unit circle is equal to the number of zeros of 6z*, i.e. 4.

(c) Let g(z) = f(z) — z. We want to show g has exactly one root inside the unit circle. We know
| f(2)| < | — z| =1 on the unit circle. So by Rouche’s theorem g(z) and —z have the same number
of zeros in the unit disk. That is, they both have exactly one such zero. QED.

(d) False. Consider f(z) = e* — 1. This has 3 zeros inside the circle |z| = 3z (0,+2x). But
f'(z) = €% has no zeros.

Problem 3.
Let A ={z|0 < Re(z) < n/2, Im(z) > 0.
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Let B = the first quadrant/
Show that f(z) = sin(z) maps A conformally onto B

answers: (a) You should supply a picture of the regions A and B and develop a picture tracking the
argument we give. We see where f maps the boundary of A. The boundary of A has 3 pieces:

Piece 1: z = iy, with y > 0. On this piece

in(2) eV —e¥ (¢7—e7?).
sin(z) = = i
2i 2
So, the image of piece 1 is the positive imaginary axis.

Piece 2: z = x, with 0 < x < z/2. On this piece sin(z) = sin(x), so the image runs from 0 to 1
along the real axis.

Piece 3: z = n/2 + iy, with y > 0. On this piece

e~ ytmi/2 _ oy-mi/2 B (ie7? +ie™?) _ eV +ev
2i - 2i -2

sin(z) = = cosh(y).

So, the image of piece 3 is the real axis greater than 1.
We have shown that f(z) maps the boundary of A to the boundary of B.

To see that A is mapped to B it’s enough to verify that one point inside A is mapped to a point inside
B. There are lots of ways to do this. Here’s one. We know

e—y+ix _ ey—ix

sin(x + iy) = T
1

Pick x = w/4 and y so large that e™ is very tiny. Then

SV2/2-iV2/2 _ V2+iy2
i 4

2

sin(x + iy) & —e’e™*2i = —

This last value is clearly in the first quadrant, i.e inside B.
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